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��� �
��*��  �
����!��
 �
���� '�����	$��	�� ,��%���������*�� 	�+

��'�����	�� ,�
���������	D 	��
 &������� ������	���� 	�������
� ���������*��

��		������� � 	E����������

%�%�&� +�
��� ������ ��� ��
�
� �������
��

�����	 ����� � ����3+�� �� � 	����������� *������	 �
�	��+D %�	��+

������+ �� 	������� ���,/��� ����������	��������� . �������������� �����������

	����� ����-�� C�� ���
+'��� ����������-�� 	����	 �����/����� � ���������

������������-?� ����� �������	������ %�-����L � 	���� %����������
�� ���� 	�+

��������� ��%��
������ ���
 ��������� �1�/� � ��� ������� %��������	 ���	+D

	�� � ��� �1��'��� ,���/����� ������������� 8���� 	��,������� ��
�� 	������+

%�� � %����CD *����
 	����� ���������D �%�� � �1��'�� �������������� � 	����

����� �������	��������� 
����	�� '����$���� %������%��
�� 	��� . ����������+

��� �0 μ	 ��	���
E ����
��������� �� ��/��'����� ���������*�� %����	 ������ .

	���� ,��/������� ,/����� ���������� �����1� 	������ ���������*�� *����
 ����


������������� '�����������	 � 	������ �� �%%�� �1��������	 �� ����
��������
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G����3PD 	�� 	�� ������-�� � ������������� %����������� �1��������	 � 	��+

��%�� G	������� 	�����P� .� ������������������� 	����� �� ���������� ���	���+

�
����� 	��� ,���/������� ������-?� %��������	 	��D ���/��1-1�*� ��
 � 	�����

����������� 	��
�����D %�	�������� ��������-�� ��?�? ���	�,���/�������� . 	�+

�����	�� ��
�� ���$���
 ������� ���������	 -�D %��
 	���	������
�	 � ,E����


���������-�� ����� %�-��D �� � ��%��� ���
�-- 
��S��
 *�����
� ��
�	 ��� 8����

	��,������� � 	����� ��������'��� ���
����	��
 ��'������ ��%��
 μT *����

. �
�	��,/��� 	������ ����� � 	����� �1�/�	��
��%�� �����	�����*� �1--D

	����-�� �� ��
���-�� �/�1�-1��D �� ������ ,���'����ED C�� 1�������? GO���,

$��	'���OP �
�	��$����� %��������	 � ��*��� %������������� �
�	�� �������%���

8��� 	E�1������� ���
���D %��
 � 	��������� � �
�	��� ��
 ������
C �������+

��*�� ��
��D 	��
 ������
C� ��
 � �
�	��$���� �����-� $��*��%��? ���		�� �1�+

���/��� #���-- �
�	���� G≤�D� 9@�P �������%�� ��
�� ��������E ���+-�������	

$����� %������%��?��D 	�� ���
�-- �
�	���� G≤ 9@�P �������%�� ��		��+

����� %�-��� $����� %��������	D 	��
 ���
 ��	��
���E &�H�.� 1�*1��� -����

����-�� �� ���+-�������	 �1'��
-�� ����

.� ������� �
�	���1�*����� ,��
������ �1-- ���	'��� ���'
�� ���� ��*�����+

������� 8��� �1�/� ���,������--D %��
 � ���-�%�	���������� ������� �
�	��

���
 ������ ���$���
 %�	���������� �� 	��������D *��
�� %��������� ��
/��%��?+


� �� ���
�� �� 
��������� � $������?�� 4�*�--� ,����� ,���������D %��
 � ,��
����

�
�	�� �������*�� �� � %�	�������� $�1��������*�� �� �������
����
��D 	��,�+

�
��� ������ ������' 	����
��D �� ������
���� �� �
��?����D *���	��� ����������

���
�� � 	�$%������ %��������U ���������� %������� ,��
�� �� �1*�����%����� -�

-����� R�?--� � 	���� �1����%��D *��
 	������'������ �����������%�� *����+

��D ��%��������� ��*� �� ����������	��������� #������ �����	�����*�� 	�������

���	'����� ��������%�����D �� �����	����� �
�	�� %������������� 	���� � ���+


�� �
�	�� �� %�	�������� �����	��
-��D � %E��� ����� -��1*������ �
�	������

%�	��������,/����� ���+-�������	 $�����-�� 
?� ��	���D ������ ���$���
 %�	�����+

������� 0D�+0D� 9@�D �	� 	�� *�����
��� 	���� G�00+��0 # ,�����P -��1*�������

M#3N� . ������� ,��
��� ���-�%�	���������� p ∼ 1,69@� �
�	���� �1*�������

-�� . �
�	�� 	������ ���- ��
�������
 �
�	��	���*�� *������	D �� ���'
��



�� #�������� �������/����� ��

	��,������� ���
 �
�	���� G>0D3+0D� 9@�P �� ���$���
 %�	�������� G<�00 #P

������ �� �����	����� %������������� �
�	�� ≈ 0.01 9@� %�-�*�� ������?���

������%����

. �/�1�-1�� �
�	��$����� �����	�������� 	?������ 	�� 	����� ������ �

��8 J����� 4���������� ���$���
+%�	��������� I���� ��-����?���	�-�� 	��

���� ��,������D � �
�	��$����� 1���������������� �� %������������ ����������� ��



���� ��������� ����� ��	 ����� ��D ���� 	�������%��?�� ��'��	�	����	-�� ��

� ��-����?���	-�� ��������� 	�� ������� �����������-��L M#�D #2N G���+-�������	

�
�	��$�����PD M#�N G���
 �
�	��C &�H�.� $����P� . ,��%������� �
�	��$�����

���������� *������ �� ,���'����� � ���� �-��� ���%��?�

. �/�1�-1�� %������������� �
�	���� ����� *������ �������	�� ������'���+

	�������� �� �� ���-- -�	�������? %�*�����+��'����� �� ,�
%�	�������� ���


	����E 6=,��� ���������-�� *������	D 	��
-�� � 	��������� > 124 	�������

��� ������������� ��'�� ���'��*����� 	����� *���� �1�/��

%�%�%� ,	�����	- ������� �� ��.�	

)�*�����+��'������ �� ,�
%�	�������� ���	�� ��,������ ��$%����� �����%�����

�� �������	-��D ����-�� ���� 	�����
��� $��� -����
�� 	���1�������� �����+

	��%��?D '�� $��� ��
 ��E� %�	��������+�����*����	-��D *��
 $��� 	��,�������

���
 �� �� ����� 	?�������� 	��,����� ����C 	������� M#"D #(D #�0D #��D #��N�

8��� 	���1����� ���
����� �--?� ��?����D %��
 ��������� ����-�� ��%�� I�
�+

��	-� *���� � 	���� %�*������� 	������ 	��
�����D � %�	��������� �������� ����+

�� %�*������������ �� � *������� 	���� '����� ����
��� �����
��� �� �� C�� ����=�+

$�?� 	?�����-��D 	��
��� ����� � *������� 	���� ��
�� *���� ,E�*� %�	��������

��������� %����� ����� M#� D #�3N� . ��������� ������?���� ����'��-?� � %�*�����+

��'�������D 	�� � ��������� ����	���-?� � ,�
%� ������� ��%�� 	��%��������� .

%�*�����+��'����� ��
�� ��$%����*�� �1����� 	����� ����� � %�	��������� �����+

���-?� ��?�? �������	������ %�-�� #A�� �� 	���������� M#�3N � ���� �-�����

	��,����� ����������-�� *�����$������ ���-��
��? �1���� �������D %��
 � 	�����

�� ���������	
����
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 ��� 
��	���� � �������
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���� ����� ��
� �� ��	���
���� 
��
��� ����������������� ��������� ���
�� �������� ����	!���� � �����������
�� ���
��
�"#� �!#!# ��������������
��"
� ���$��%"%������& � ��	�� ���
��	�� �'���� �
�
	 ����
�
�
� ������
������� �����
����# � ��	�� �� � ��	�
�
� �%�$����� ���
��
�� �%��	� �%�
�%�� ��������# ����������� �$�%	"�
��� (1��� �� 2��� ����
�
�
�)* ���� �
�%��	��	 ����������� �'������	
��
��
��� ��	������
����# ��+,�&

�1�/�*�*� ��������� �1'��
 %�	�������� '��I�
� 	����
����� � 	���� ������?+

���� ����'��-��� %�	�������� '��I�
�*��� 8� � 	?����� ����-�� $��� 	��,�������

���
D �E ����C 	����� ������ ��%�� ����	��
��D ��������� 	�������� �� ,���� ���

	����� ������ � 	��,����� %�	��������'��I� 	��%��������� �� ����������� ��	

	�����%��?� �����	������ � %�	��������� ��������-?� ��?�? %�-� ���/��1-1����

���� 	?�������� $��� �*���+��
���C�
� ����'����-�� ��%�������D ��
 � �/�1�-1��

���������?� 	���� G�1'��
 �� 	����P � 	?����� ��	 �����	�� � 	���� ,�
%�
�+

��� '��%���	���� �1����� 	��%�����������D 	��
%�� � 	���� %�	������������

������ �
����-- *���������� ���� ���
 '����������� �
�	�� �1*���� � ����=�$�?�

,��
�	�� ������

. ����3 	���� %�*�����+��'��������� �� ,�
%�
���� 	��%���������%�� ��+

,�
���������	 ��
 ��
�� C
 	����� ��
�����D 	��
 ,���� '��-��	���� ���/��1-1�+

*� �����	�� ���� ���� ��� 	����E �� ����������� ����C 	����� *������������ .

	?����� ���
 ����
�D %��
 � %�	��������� ��������-?� ��?�? �B��������� ��

I�
���	-� *����D ��
 ���� ������ %�	�������� �����	��
 *������%��? ,��
����


%����	 %�	����������� ���-�+ *��
 ���� 	�����-- %�	������������ ��� 8	������

� %�*�����+��'����� �� � ,�
%� 	����� '��%���	���� �1������D ��
 �����/�%�����

� �/�1�-1�� 	����� ������������-��D ������ 	������E 	�����-?� �� *�����? �1�/�+

	��
��-�� ��?�? �������	������ %�-��� .� ���--���-�� -�	�������? 	?�����

���������*�� -�$���� ��%��? � *������� 	����� �	�����?� ���
���
��� ���

. 	����� ���������� ��	������ ��
�� � �� � �-��� ���%��?� . 	���� ��� 	���+

�� 	���� ��� ���	����	 1������'$������-?� ��?�? C�� ��B����$����� ���	�'����
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��	� ����� � ����������������� �� �� ������������ ��������
�� ����	!���� ���
������� �� ��& � ��	�� ����� ���� � ��	������# -0 �����������' �������� ��	
�%������* ��� � �
��� ������� ��� �����' �'������	
��
�� �%���������& PH � �'�
������	
��
� 
���� ���!
�� ����� ������	��  ���	��& � ����
�
�
��� ��$��������
������������ �%��������� � ��	�
�� .��* �
�� ���
	� ����� �#��� �%�"������
�
�
��� ������
�
��	 ������������� ���� ����
��#�& � ���
	� ��� �
	���� �
�
	���	�
	�* ��� � �������"" �
��� �
	���� � ��#� ����
�
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�%���& /�#""�� ����	
���� � �'������	
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� �
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�
�
�
� ��& �� 
"�
	 ΔTs

 ��%�� � ��� �� ��	�
	 ��������# ����������� �$�%	"�����* ��� ΔTc �� ΔTh �
�%����� ����
�
� �
	��������� �
	!
���"�	 ������
�����
�� ��	�� ��!���""
�� ������"" �����	 ��������# ����������� �$�%	"�����& 0���$� �����* �
�� ��
����	!����	�� ����������	 ΔT0 	
��
��� ����"�	 	����* ������ � ��	�� ��!��
���� �� ��	������# �%�%��� ������
�
� ����& �� 
"�� �����* �) �����	 �
���� ��
� ��
��
	�
� ����	!�����* ��� � ��	�� ��!��� �� ����� ����	�� �������������
������ $� � ��	������# -0 ��������������� ������& �� ���# ") �����	 � ��	�
�
	 ��������# ����������� ��
1� ���������������� �� �������� �
�
""�� ��������
����	!����� �
���� ��* ����	�� ������������ � �����
�� ��	�� �
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���������*�� *��������	 � 	����� ��������? %�	�������� '��I�� L 	����	 � 	����

	�����-- �� %�����-- *������ G�� � �-�� �P ����PD *���	��� �1��'���� G�� � �-��

-P ����P %�	���������� � 	��������? 40 %�	���������%�� ��'���� . ,��%�������

��?	+���������� ���	�'���� ������ %�	�������� �����	��
-�� �����	��%��?+

�� ∼ 3#+��� ������� ��30#+��� . ���	�'������ � 20μm ��	���
E ��?���-?�

����������	 �*%���������� ��$%����*��D 	�
� � ���	�'��� �����? ��?����� �'���+

����� ,���������	� ��
 	?��� � %����CD ,�
������� ��� %�*�����+��'�����E ��?���

,��%���������*�� ��
�� ����������� ������%����	 ��D 	��
-�� � ���	�'���� *����

%�*�����+��'������-�� ��?�? ������* �������	������ %�-� � ∼ 10−5 ����� ��� ���+

���%��?� . ���	�'���� �1��'�� ��� ����/�� � ������-- %�*�����+��'�������� ���+

������� ��?	-?�� JE��������������� ��
 ����*��
�� ����	�� ���������� ∼ 10kΩ

����������C ��� ����-
�� %��������	D 	��
�� ������� �'����-� ,�������� ��?	 ���+

	�'�� ��?� ,��%���������*�� �����������	 ��/��'����� �� %�������� ���������+

*��� . ���	����E ,E��������������� �1��1�%����� � *������� 	����� %���'�$�����

	����� 
?*�� ���
�-- *���D 	��� � ,E������������ %���'�$����� G��'���� ����


�000L�P� . 	����� �1�/�*�*� ������� ���*��$�?� %�*������������ 	���	���������

������-�� ���-�	���������� '�	'� ���������*�� ,��
�	������ ���
 *����	��

G< 10−5mbarP -�����������	 � 	�������-��D 	�� � ���	�'���� 	��,����� %���+

������%�� ��*����������� � 	��������? 40 %�	��������E �����%�� %�$��'�����	�

. ��3� �-��� � -�	������� ���������� ��
 	��*��?������ ���%��? 4×3×0,4 		3

���	�����
C �" +4���2 	���� �������

. �������� *�������	������� 	��,����� ,������-�� ��������� %�*���������� ���+

�/� �� ��
��	����?� 	���� ��
����
� ,��/����� ��%����? �*���+��
���C�
� %����	

jQ = −κ
∂T

∂x
D G���P

�%�� jQ � ∂T/∂x %�	�������� �/�1�-��� %������� �����
1*� %����	�E�E���D κ

'���� � %�*�����+��'������ . ������������ ��
����� L

∂Q

∂t
+

∂jQ
∂x

= P (x)D G���P

�%�� P (x) �� x %��
�� � ,E������������ ����� � 	������� ������� ���
����	��
+
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��
� ����� � ����������������� �� �� ������������ ��������
�� ����	!����
������#���
�� 2� �-�3�2 ��	�� �����	& � ��	�� (� )* � ��	���'� �'������	
��
�
(� ) �� � ����
����	 ��������� !�4���	��
��� ����
�
�
� (� ) �%�������� ��$���
������ ������������ 
�!
���� ���* ���� ���.���� � ��������� ���
	������� ��
"���
���
��� �� ����	!���� �$�%	"%�� ������ �%�%��&

�E�E���� . %�	���
����+�E�E��� ∂Q/∂t ����*���
� G	��
 ������� � '���$�? ,/��+

*��
�P � �1*������ ��,�
������� ��%��? 	��L

∂Q

∂t
=

c

v

∂T

∂t
D G�� P

�� ��
�� ,�
%�
��� � cD 	�� ���,������� � v 
��1���� -�*����*��

. 	������ ,����� ������������ ��
����� 	�������� �--�� �� ����-�� ��	 ���+

*�����D �	� � 	���� �� � ,E������������ %������ � %����	 ���������-�� 	��
�����

�������������-?� ��?���� . '��-��	� ����
�����%�� ����� ��
 ��
��	����?� ��+

	������ 	������ ��������	 ��D #A�� �� 	���������� M#�3N ����� ����--��D �

��������	����� ������ 
�*����� 	�����%�� %�����? 	?���D ��� ��*�-- ������*��

9�������-�� ������ ,�� � 	����� &V� ��
���� ������D �%�� 0+*�� ����=��
/� �

	��������?*�� ��������� ����	����D 	�� � ,E������������%�� ��'$���?�? �����?

����� N+���� J�������/�D %��
 � 	���� %�	��������� $��� � ����	����� �1�1��

*�������D ��
 �--�� � �������� 	�����-�� � ����	����� Ti %�	��������� $��� ��

����� ����	��� i ����=���� ,/��D 	��
 ������?� N+�� *���������
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. ��������������� �1*����� � ������������ ��
����� � �1*������ ����-�� ��%��?

�� ��
�� ����	�������L

c
ρAL

MN
Ṫi = κ

AN

L
(Ti+1 − 2Ti + Ti−1) G��3P

i = 1 . . .N − 1+��D ��

c
ρAL

MN
ṪN = κ

AN

L
( −TN + TN−1) + PH� G���P

��� M+	�� �� ρ+*�� 
��1���	 �� L %����C���C �� A �������	������E 	���� 	������

�1	���� �� �E�E������ PH 
��1�� � 	���� N+���� ����	����%�� �1������� ,E��+

���������� ����� ��������'��� ���
����	��
�� F�����?���� ����'��-�� Ṫi ≡ 0D ��
 ��

��
�� ����	����� %�	��������� � 	��������?*�� ���������D ����� ����=E ����	���

%�	���������%�� ��'���

ΔTi ≡ Ti − T0 = ΔTs − (N − i)
1

κ

L

AN
PH D G��2P

�%�� ΔTs = TN − T0 � ���
�� %�	�������� �/�1�-��� � 	������ .	���
�-�� �

	���� ���%�����-- ����� � 	��������?*�� ������ %�	���������� *��D � ΔT0 ≡
≡ 0 ,���������� G��2P+-?� �1�*�����/� ��?��� � -�*����� I���� �����	��
��-?� 
?�

��	��� κ0 = PHL/ΔTsA ��'��� � %�*�����+��'��������

����� %�	���������� � ��������� %�*���������� ���
 	�����-�� -�,��
����+

%��
�� � ���	���� ����
�������� *������������ ����	��
��D �/�1�1��� *����
D

%����C 	����� ������D �%�� ,��/���S���,���� ����
 ���
� &�	������ 	�����/��+

-�� I�
���	-� *�*� � 	���� ,������� ����� ���
��� �� ��-�$��
���� %�	���������

��������� �� ,���������*�D %��
 � 	���� �1��
����� G� 	��������? 	����%�� �1��+

�� *��� �� � ���������+S*����	 �1'��
P ������ T0 %�	���������� *��D �� ��
��

����	����� %�	��������� ��������-?� ��?�? %�*��������� � �1*������ ����-��

��%��?L

PR
i = −σSi(εsT

4
i − ε0T

4
0 )D G���P

�%�� εs �� ε0 �������-�� � 	���� ,��/������� �� � 	���� T0 %�	��������E �1��
�+

������� �	�����?� ���
����D σ+*�� 
��1���	 � ���,��+�����	��� ���������D 	�� Si
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� 	���� ,��/������� ��
�� ����	������� 
��? ������� . ������������ ��
�����-��

I�
���	-� *�*� � %�	��������� ��������-?� ��?�? �����D � �1*������ ��	��������

��
�������������� ��'
��L

cṪi = κ
MN2

ρL2
(Ti+1 − 2Ti + Ti−1)

− σ
Mp

ρA
(εsT

4
i − ε0T

4
0 ) G��"P

i = 1 . . .N − 1+��D ��

cṪN = κ
MN2

ρL2
( −TN + TN−1)

− σ
Mp

ρA
(εsT

4
N − ε0T

4
0 ) +

MN

ρAL
PH D G��(P

�%�� p � > ����
���� ��
����E������ ������-�� *���� ������ �������	������E���

��������� > 	���� �������	���������� ���/����� .� ������?���� ����'��-�� �����+

���? %�	�������� �/�1�-����� 	���

ΔTi = ΔTs +
σ

κ

pL2

AN2

N−i∑
j=1

j(εsT
4
i − ε0T

4
0 )− (N − i)

1

κ

L

AN
PH G���0P

����-�� ��%��?��� κ0+� ������*� � %�*�����+��'����� �������? ���������D

ΔTN D ΔTN−1 . . .ΔT0 %�	�������� �/�1�-����� �������*�� �����	��%��?��� .

%�*�����+��'����� '����� ������ � ΔT0 → 0 1������������ ,������� �����������+

*��D �����$�?� 	?�������� %������%��? 	��D *��
��D ��
 �����$�?� �1*����� κ ��+

����� �� ����� ��'��-�� 	��%��������� ΔT0 �������� 	��,������� *��������
���

.� ��
���� -�	����� '���	���������� ΔTs+�D PH+� �� � 	���� ���	������ '���+

	������� ���� � ���������� ���'
�� 	��������� F�������� ����-�� εs �� ε0 ���-��

'���	������D �� �� ������	 *������� ��
�������
���� *������ ���������� ���'
��

> �	��� ��� �� ���--���-�� ����� ,��
�� > �����/� 
? �1���������� � ,���������

����������� 	��,����� �������� ��
 �������� *�%���� ���
/� �����D %��
 �� ���+

��$�?� ��
���� ����� ��	 $��� κ+�D �� � 	����� ������?���� ����'��-�� ��������?

���
�� %�	�������� '��I�� 	����'
��D 	��
 %�	��������� �������� 
��������-��

���
	�����-�� �/�1�-1�%�� � �������� %�	�������� ���������?��
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. %�	��������� �������� %������ � %�*�����+��'����� �� ,�
%�	������ ����+

	��
���� �1-- �/�1�-1�� ���	�����
C ��
�������
 ������ �� *��������	D ���� �

%����C��� ����3 G8 × 0,5 × 0,5 		3PD �� �� ����-- ��'���-- �" +4���2 �� κ+

G84P2H�2GH&P3 	�����D �������-�� 4 × 3 × 0,4 		3 �� 2 × 1,5 × 0,15 		3

	���������� 8��� ��
���� �/�1�-1�� ���	���� ����
���������D ������ 
����	��

	����/� �� ����
�� 	���� ��*��?�� ���	�������� � ��,�
�������� 	?����� ��� ��+

���	��%��?������ . ���� �-��� � %�	��������D �� � ����	����� ,��/������� ��

�������	���������� ��	����?���� ����
�� ����? S/A ,/��*��
�-�� �-�������	

� %�	��������� �������� %�*�����+��'����� ��������� �
������� %������� . ���+

��' 	����� '���
�� > � ,��� ,�������� 	����� ������ ��'���� > κ0 = 4TS#	

%�*�����+��'����� �� ΔTs = 0,5# ���
�� 	����� ��������? %�	�������� �/�1�-+

��� ���������� ���	����	� .� S/A ���	������ '���	���� ���
 ������� � 	����

%�*�������%�� 	����� ���
 %�	��������� �������� ������ %�*���������� 
�������D

��
 %������ ����-�� �� ������-�� > �/�1�1��� 	���� %�	������������ > ��	 %�+

�
����%��
�� ��� .� �-��� -�%C���� *��������� *������ � %���	 �/�1�-1�� 	����

������ ���	�����
���� 	��,����� S/A ����
��� 
������ 5��%��?D %��
 � %����C���

	��������-?� ��?�?�� ���
 S/A �����
�� ���������� ����3 	���� �����-�� �

%�	��������� ��������-?� ����� %�*�������� ���
D ���-�%�	���������� ∼ 25W�

8���� 
����������� ����--�� ���� ����$�1*�� *��������� ����� �� ��	�������

M#��N

��� � %�*�����+��'������� � ���$����� ΔTs %�	�������� �/�1�-���-�� ���+

	��%��
��D � ,�
%� 	��%���������%�� �� ���,/��� ΔTs(t) 	���
������ ���� *���+

�������� .� ���,/���� G��"P+G��(P ��
���������� *��? ������� ��%���*� ����� � ,�
%�

��������� 	��%�����������

. ��	������ 	���1�������� �� ��� ��	����?�� �� �����
����*� �� ��������� ��

,������
�� �������� �����*����	���� t(j) = j · Δt ,��-�������� 	��,�������� .�

i+��� ����	��� ����������� ���'���-��� %�	��������� �������*�� 	��%������%��?

� ����	����� ����--� ���'�����-�� ,��*��� %�	������������� ,��%���������*�� L

Ti(t) � Ti,j = Ti,j−1 + Ṫi,j−1Δt� G����P

#������ ,���������� *�%��
/� �� ��
������� %�	�������� ���������D *��
 �
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���� ����� � ����������������� ������������ ���
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�
"#� ���!� �������
����
��
�
�� � ����������� �� � ������	��� ���$����	�� �� ���������������	��
!���	��#���	 ��
	�
� ����# S/A �$����	��"�	& � ������ ���	����� � ���������
�������� ��
�����
� ����
��
�
�
� �%����* ��� � ������	��� �
	���� � �
�
�
�����
�� ��	�
	�� ��������� ������� S/A ��
	�
���  ��%���&

%�*�����+��'����� 	��%��������� ����� G���0P ��
�����-�� 	����'��� ���$�����

����'����� 	��,����� XTi,0Y %�	�������� '��I�� Gi = 0 . . .NP� 8--�� � G��"P+

G��(P ��
������� ,��%���������*�� XṪi,0Y �����	��%��?D 	��
�� G����P ��
�����-�

%��
�������*� ��'
�� � �1*������ ���'������ 	��,����� XTi,1Y %�	�������� �����+

����� 8��� ��'���� �������* ��	������*�� � ���
�� XTi,jY ���,/��� %�	�������� '��I�

	����'%��?D 	��
-�� � ,�
%� 	��%���������%�� 	��� $��� ΔTs(t) ≡ TN(t)−T0

���,/����� %������
�� ,��D 1����%�������*� ��� � ����������-�� 	��%��������� ���+

,/�������� .� ��������� ���
���1��������� 	���	���������*�� c ������� �����$�?�

��'���� ����� I��	��
��D 	�� � ���	����� �� ������������ 	��%��������� �1�+

-�� �/�1�-���� � ��*��� ����� ��� ��	 $�1����� ��*�� κ ������� �� ������?����

����'��-?� 	�� 	��%���������D ���� �����$�?� ����� ��	 *��������
�� 	�� �

%�*�����+��'����� �������� )�	��������� �������� %���
�-��D � ,E��� -���'$��+

����� *��
 ����'$������� �1*��� ����=�$�? � 	���� %�	���������-�� 
? �1����������

� ΔTs(t) − ΔTs(0) ∝ exp[−t(v/L2)(κ/c)] ������� 	��,����� �='����$����� ,/�+

������ ��%��? ��� ��� ���
��D %��
 ����/��-�� �� � �1������� ��	 �� ��,����%��?
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���� ����� -������ ����5
��#� �%�"�� 6�033 �����	 200 �� 15���	& �
���7���
� �%�"�� � �'��� ���7"������
�
�� ��
	 ���� ������������$��������
����� 
�&

������� � ����=�$�?��D �� ��
 	��%������%��? c ������� %��������	 � -�	�������

�����$�?� ��
���� ������� ����������

. 	����� ����	��
�� ������������ ����� � 	����� 
����	���� N = 10 . . . 100

������ ��������	D 	�� Δt = 10−3 . . . 10−4τ +��� 	��,����� ���,��-������ �����+

	����	D �%�� τ � ����=�$�? ���������������� ���
�� 8������ � *������������� �

�������� ,��-�����-?� ��?�? �������	������ %�-� 1 % ��� ������%��?� τ ��'����

������ ���$���
 %�	���������� ��%��
 	����'��$D 	�� ���-�%�	�������� �1��+

��-�� ��%��
 '��$ �� ��%�� � 	���� %���'�$�������� ������
�� �1*������� �1*��+

�����-��� . ��2� �-��� ����3 ������ ���%����� ��'���� ����=�$�?� �1�-���� 200

�� 15#+���

.� ��������-�� � %�*�����+��'����� �� ,�
%� ��������� 	��%�����������

��
�� ��
����� ��	�������	D 	��
��� ����� � %�*�����+��'����� ���
�--�� � ���+

$����� ����'��-?� ����'��%��? 	��D � ���
����� ����=�$�? $��� � ,�
%� 	��%���+

������%�� ��/������� ����� %�	������������ ����-�� � %�	��������� ����=�$�?

���
��� ��������%��D %��
 �� ������?���� ����'�� ������� ��,����%��������� ���

���� *���� ����
-�� ��
�� ������-�� ����	�� 	��� κD 	��� c ������� � ,�
%�

	��%������������ -�	������� �����$�?� ���������-�� 	������'�����D ,��%������*�

� ����=�$�? ����� 	��� ���,/������
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. �����������I����� *���������� ����� ���������� �����	��
����� ���	����E

��
�������
�� '����� ���	������ '���	��������� 	��%��������� ��	 �1��
E ,��+

����D �����/� ������-�� $��� ���
 -����
����������� ��%��? 	��� 8� � -����
+

�������� ����-�� > �%��
 �� �� �������-�� ��	�������� 	����� ����� -�	�������

��
�������-�� �� ����*��%��? > ���
	�����-�� -�,��
����
� � %�*�����+��'�����

�� ,�
%�	������ ����	��
��� . -�	������� 	?����� ��*�--,�
��������*�� ����+

��	D %��
 � ���	������ '���	������ '����� ��������� 	��%���������-?� ��?�?

-����
�������� ���
	�����-�� $�1�����%��� ���
��D 	��1�-�� > � ��*�--,�
+

�������� 	?�������� > � %�	��������� �������� ���
����� %����� ������ 	?���

���������%���� 8%%�� ��
 ��*�--� ���	�'�� �1�-���������*�� 	����	 � 	����

�1��'���� %�	���������� � 	���� ��������� %�	����������%�� ��'���D ��
 �����+

	��
��%����	 � 	����� ��������? %�	�������� ��������� G���� �� � �-�� -P �����P�

. ���� �-��� ����S/��� ���	-?��	�� 
����� � ����3 G,���� '����P �� �" +

4���2 G���? '����P 	����� 	����S%���� ������� ��������? %�	�������� �/�1�-��+

��� ���������� ����
�� � ���
�� 	����� ��������? %�	�������� �/�1�-�����%�� *�+

����
��*�D � %�	�������� ,/��*��
�-��� .��$���
 %�	���������� ,��� �1�����*� �

%�	��������� �������� %����� $�1����D ��
 � 	����� ��������? %�	�������� �����+

��� �� ������?���� ����'��-�� �1��� �������� ����� 8���� 	��,������� ΔTc/ΔTs ��

ΔTh/ΔTs ����
�� T → 0 %��������-�� ,��*��� ������� � �1��'�� G%�+P���������

��%��
��������� ��
�� 	�� � 	������ .� �-���?� ���%��
��D %��
 ��
�� ����-��

��	 '��� �1��'�� %��
�������� �� � ��������� G*��
 � 	����� �������	�������

*�������� � %������ 	�����P� .� ����
�� 	�����-- %�	���������� ,��� �1���+

�� 	��*�������� � %�	�������� �������� *���������D ��
 � %�	��������� �����+

��� ��
�� �1*��*� %������ 
����� . %�*�����+��'����� G���0P ��
������� ���'��?

	��%����������� -�	������� 	?����� GΔTs �� � ���	������ '���	������ 	���

-�	��� '���	������ ,��%���������*��P � 	����� ��������? %�	�������� ���������

�� 	����
�� ��*�� �� ���$���
 %�	��������� *��������� � �1��'�� ��������� %��
+

����� ��
�����	E�� 	��%��������D � �����	��� %�	�������� ��������� -��	��


%�	���������� 1���� ���
�� %���������� � 	��� ΔTc �� ΔTh %�	�������� �/+

�1�-��������� . ����3 �����-�� �'����� 	�������?' ���������*�� 	��%���������

���	������ '���	������ ,��%���������*�� �����	��� %�	��������,/�������� ,�����

�1�-�*�� 
��1���	 � ���� �-���� 5��%��?D %��
 ΔTc(T ) �� ΔTh(T ) %�	��������
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	 ��������# ����������� �$�%	"����� ��
�����
�
��
	�
� (���
�
�7�%��� ���	�����  ��%���) � ��� �� ��	�
	 ��������# ���������
��� �$�%	"�������� ����
	�����& � ����"#���
� � ���� ���!��	�����* ��� �
�
���
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�
� ���!��	���� ����� 
�* 6�033 �����"�	 ���
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�/�1�-����� ���	��� �� 	��� ������� �1�1�� �� ������� > �/�1�1��� 	���� %�	��+

�������� ,��� �1�����*� > 
�������D ��
 I��	������� ���� � 	���� ����
�� ����? AD

L �� p '���	������ ��������D 	�
� C
�� �����	���� � 	���� %�*�����+��'�������

�� � 	����� ��������? %�	�������� ���������� ���1�-�� � ���	��� �� 	��� %�	��+

������ ���������� %�	��������,/����� �1����� ��
	��%��D � *������� 	���� *��?�

���	������ '���	��������� �� %�*�����+��'��������� ��
�� '������-- ��������

��'
�� � ���	������ ������ ����3 �����-�� � 	���� ����
�� %�������� �1����+

�����	� .� ��	��� �'����� 	�������?''�� 	��%��������� d ≈ 0,5		+�� �������



�� #�������� �������/����� �3

�� �����$�?� ��'���� ����� 0,66		+�� *��������*� � ���� �-��� ������ *���������


��1�� %�	��������,/�������� ��'��	D 	��
�� 
?� ������������ � 	��� ���������

.� εs = 1 �������� 	��,����� �	�����?� ���
��� 	���%���	 -�	������� ��
+

�������
 *��������� ����� 	��,����� *����������� -����
��� � 	������� ��������?

%�	�������� ���������� 	��%���������%��� 8��� � �������
�� *��?-�� ,�������

. 	���� 	��� %�	�������� ��������� ����-�� ��	 	����� ����-�� �����%��? ���

'������ � ���	������ '���	������ *�����������*��� 8��� ���� � 	�����D 	��
��

�	�����?� ���
���
� ��
��� ����--D *��
�� ��	 ������%���� ������� ,��������� ��+

����?����� . ���	��� %�	�������� �������� 	��� �������%�� �1����� ����������

����� ����-�� �� ������-�� � 	���� εs �	�����?� ���
���
�� �� 	��� �����������

'���	����� ���� 	��%����������� . -�	������� 	?�������� � ��,����$�� ��
��+

���� *�������D ,�	���� $������? ���= 	���� �	�����?� ���
���
��� εs = 0.4 ± 0.1

������� ��'��	D 
? ��
����-�� �� �������	-�� �����'�� ���������

. 	������ ����� � %�*�����+��'����� 	��%������������ '��������� Δκ ∼
∼ 10	TS#	 *��� � ���
�� *������� %�	�������� �����	��
-��D 	�� � ,�
%�

������� ������ �� Δc ∼ 2 7S#	�� *����
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%�%�)� �������������� �� �����/����0������

-������2 �
�3�
�) -��	&
����� �)	��� 4-�-�5

.� C�� O�������$ @��'���
 �������	��� �
���	 G�@��PD Z�����	 K�+

���� ��$�O ��
 ��
�� ��	'����D �ZR�K G��'��$����$���� Z�����	 �����,����+

$� K�*�$�P �������� %������? 	�����������D 	��
 ���
���� ����	��������D �� �

,��%������?� ����
��%�� �����	���� �����	�����*� ���
 '����������� G≤ 10−8

8�RP ��'�� 	��������������� 	���� ������ %�	�������� �����	��
-��� . ����+

���� �'$��������� �1-- ����������*�� ��
/�� �� %������%��?D ��
 	?��� ��%���*�

��*� '�� �$+�����$�'��-������ 	������D *��
 � J1�� �� 	�� �/��� ,������� 	�������

����� ���/��1-1�� -���� %���������*�� ≤0�0� 9 �����-�� �1����� 	��������� .

��������-�� � %�	�������� ���-��
����� > � ��/������ 	���
����E $��'',��
?�

%���	 -��1����� ���� > ����	�������� �1������D � 	��������� ��� �� ���'��*�+

���� 	����� *���� �1�/�D 	��
 �� ������ ��*��� 	�=�	�	 � 4 ���
���C �����

��������� � 9 G��� �������� 0D� 9P '����������� �����
� -��

. �
�	��,/��� ����������	������ ����� �������� ��'������������ ,��%������+

*�D � 	��������� ������'�������
��������*�� ��'$������� *����������	�� � ���+

��-�� ��-����?���	-�� �
�	��,/��� 	�������������+	��������� �����������	

��� .� �@�� -����������� 	����������� ��	����� 	����� 	���� ��� ��
 �'�$�����D

$���������E�� *����
 �� %����C��� �
�	��$����� ������� �����	����	� . �������

���+-�������	 1�*1���-�� ����/�� �
�	��$���� ,���'����� �� %��������� 	����
�+

��� � ����--�� 	�� %������� O���,+$��	'���O $������*��D ��� ����-�� > � 	�����

�1�/�*�*� ��'����� ���� ��� 	����� 	���� > ,��������� ������� /�
���� � ��'�����

�
�	���1�*����� ,��
������� *��? ���-�-���� 	����� ,���1��������

- ���	�	!�3����� ��

!�6���&	 4-.�+5

. 	�������������+ �� �����$�'��-������+	������ ���*�������� � ����1-- ����+

-�� �����1� � �ZR�K %��������� 	��/� ,��D 	��� ���
 �������
���E �����������

	?������ �����
������� 	����������������� ������������ 	���� ����
����--��

�'����� C���D � 	�������+�'����� #���+�B����� ,��%���������*�� *������ 8����

���D %��
 	�� �� �'����� 	?�������� $��� � ,��
 -�%������� 	��
������� 	��,�+

���� �����	��
�?� > ��
 � *����
����� ����
���������?� > �����/�� ��,��	�$�?�D
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��������� 	��
/�D -������*�

� ���-������ 
�������� ��� 8	������ �����*����
 	������� I�	�� ������ � $��'��

��%��
 ���	� ����� *��������C 	����-�� ���$� �������� 	������� 	�	����	

� �1	-� 	������%��D �� �'����� C��� �1����� ���������� ����-�� ����� �� �����

�������
���E ��%��� R�
����
 �� ������	 *������� ������� 	���� ���$�����$�?+

,/�������� �����	��
����� ��	 ��*������%��� � �1	-� 	��������������� 	���

-��������������D 	�� �'����� C��� � ��/������ ��������� ,��-����� ����%���� .

*��������� ����
����E���*�L �	�� ������ ��� 	�� �� ���
�� 	�����

. 	�������+�'����� #���+

���� ����� � ������4�����	�� ����������	 � ����
!��"�	 ��	�
����	 �
�
��� ��	� �
�	���� �	����#�
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�����
��
����

�B����� � ,����	�������

��
���� ������ ,����'� ���+

	���� )���+�B����� ���


,���*��$���D �'����� 	��,�+

����
�� . 	����������������

	��,����� ��,��	�$�?� ���

� 	����*�� �1�$�1�%��?

,��
�
���--�� -��1*������

'�������$�? *������� %��������

.� �B����� � ,����	�������

����/��1����+��*�����$���

����� ����
�������-?� �1*��+

�����D �	� 	���� �1���	����?
�� �/�1�-1��� �� �������	������� ��� ��
	��

����/��1�1��
������ ������? ��
�� ����'������D � -����+ �����*� 
�--�� $������+

��� ,��
��� 8���� � ������-�� ���������� '��������� ,��
 � 	�����?� �1�����

*�����*������D *��
 �� ���� *��? ��%������ ����� ����'������� '��������� ����� .

	?�������� � ,��
�
���- ��	���
� ����� ��	�����D ������������� ��$���
 �����	��


*������%��?� . 	������� ��
���?� *�����*����� ,��
 �����	��
�������� #���+

�B������?�D 	�� � 	����� ��%����? ,��
 ������ J�����
+�B������?� -�����/���

. ��*�--���-�� $��� ��Q�=�?-�� �1����� 	���������D � ��"� �-��� -�	�������

#���+�B������?� ���� ��?D �	� ��I��$�? ������� � 	�����?� �1����� *�����*������

����� -��1*������ '�������$�? *�������� . ��*+��* ��	������� 
��? �'�����

���
�������� ������ �� � *������� � *������� �����	��
 	��������������*��
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��D 
����	������ �� C�� #���+'���	�������� ������ %�������� L

ΦK = ΘK + iηK D G����P

�%�� ΘK �� C�� #���+��,������� G#���+,�������PD ηK '���� � #���+����'��$�����

8��--� � 	������ ������ �� �� ���?� *�����*����� ,��
 '�������$�?� ����'���������

���
������
�� ����� -����� ��1���D 	�� ��?--� � ���+ �� ���
������
�� ����
��

��
� 	��� . )���+�B�������� ������*��������� ,��
? ���	 � #���+�B����� ���+

��� � 	����-�� �-���� ������*������� �������	�� '�������$�?��� ,���� 	��D 	��


*���� ����� � *�����*��� �
���- '�������$�? *����������� ,������� 8��� ���'
�� �

��'$����� � *�������'����� �� � #���+'���	������ �1�1�� ��� ������� ������L

ΦK =
−σxy

σxx
√
εxx

D G��� P

�%�� σij � *�������'����� ������D εij '���� � ���������	�� ������ 	��,����� ��	+

'�������� 
��������

#���������	 ����� C�� 	�����$�?�

���� ����� �� 
������ �������%�� �
�
�
���������� �
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�
� ����
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���� � �
�� �� 
�����!# ��	� �
�����
��#� 
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�
�
�

��$%����� �����	����	D 	���
�� ���� �

�ZR�K+�� �������
������� 	��,�����D

*��
 -����
�� ������-�� ����� �� 
�--

,��-����� ��%��� �� GΘKerr ≤ 10−3 ◦P� .

	?����� ����� � ,��
C�-� %��
����� C�� ,�+

������������ 	��������D 	��
 ��
 ������+

-�� �����?'D �'�������� ��	����� �������
�

��������' 	?��� ��,��	��D ��
 �� ������+

�1��*� *����� . �������1��� 	���� � ��
��

��%����?D � ��,��	�$�? ������
�*�� '��+

%���	�� �� ���� 	�������� '�������$�?
C

,��
������� �1�1�� � ��,��	�$�?*�� ���+

�
�� δ ,�����/�1�-��� 
1� �����D ��
 '��+

���� � ������-�� 45◦+-�� '��������� ���������� '������ ,��
-�� � ��(� �-��� ���+

%��? 	?��� $����������� '������ ,��
� ��'%������ . ,�����/�1�-����� δ(t) =



�� #�������� �������/����� �"

= δ0 sin(2πft) ������� 	������*� > *��
�� � �������
 ��,��	�$�?
�� ���-�� ���+

�������� *��������*� > δ0 = π/2 ������ � ,��
 '�������$�?
� � ������� ����������

'������ ����'��-?� �������-�� 
�--�� $���������D ��������D -���� $���������D *��/�

��	�� �������� ����'��-� *�������� . �����$� ������ ����� � ��8+� �'�����D ���0�

�-����� 	��,����� �6#8 ����������-�� � �����,�����-?� ������ ,��
 ��
 45 ◦+��

'������������ ��%����*� 
�� � ,������������� 	��������%�� GO@%���������$ 	�+

�������OD @8�PD 	�
� ���� ��%����*�D � 	�����?� *�����*����*� �� *��/� ��


∼ 0 ◦+�� ������������ ��%����*� 
�� � ��������-� M#�2N�
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δ(t) ���-�� *�����? ,����������

����*��� ������' 	���� ���+

��� � 	�������� '�������$�?+
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��� ����
-�� ��*� ���+

������� 	1�1�� ���-�� �����+

�? ����������� ��'��� G�����

�-�� �P ����P� ����� #���+

,���������� ���������� 	����

����-�� � 	������� '�����+

��$�?� ����-�� -�,�����
� ��

���������� ���
�-�D ������ ���+

,/����� ����	��
��*�� ;����

#���+����'��$���� ������ � 	��+

�� ,�������� $��� � $���������

��	'������� �1�1��� ,�����/�1�-���-�� 
����������D ��
 � ������� 
�--�� *��


-���� $����������� '��������� �
���-�� ����� �-�� -P �������� 	��,������� ��	

����� %�������� . #���+��,�������� ��%�� $��� � 	���� 	������� '�������$�?��

����� *��������� 	������ %��	�������-�� ���
�� 	����� . #���+����'��$����
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����� ���	-�� � ��� $����������� '��������� ����'�� ��Q����*�������� �/�1�-����+

*�� ����
��D ����� ��� �� ���� %��	������ �����������*�� 	�� ���
�� %��������

G����� �-�� $P ����P�

����� ����� � �
�
���������� �
�
!��
�
� �
�����
��#�� ���� ���� ���
�
�� �� � !�����
� 
���� ���� �	��	���
�
� � "������
�� 89�: ����	!����
�����	 �$�%	"%�� ��	�
���; ��
��
�
� (�� ��	
 )* ���� ������
����
����
��	!������ (�� ��	
 ) �� ���� �����
����������
���� ��	!������ ��	�� (��
��	
&

. ���0� �-��� *����� ����������-�� � �������� ��	������ 	��
����� ,���/��+

��� 	����%��	������ GI2f P �� ��
�����	C GI0D �$P ��	'���������� %��
�����


? �1���������� ����
�� � #���+��,���������� L

I2f
I0

≈ 4BJ2(δ0)[ΘKerr + φ]D G���3P

�%�� δ0 � ,������������� 	�������� ����� �����%����� ,�����/�1�-��� 	�=�	����

������D J2(x) � 	����,�
C ������+,/��*��
D φ �� ���������� ��1�������D 	�� �

�� 1������������� 
����	��D ����-��$�?*�� 	��%������%��? �����?,����� M#�2N� .�

������	 %������� ����������-�� �� I0 ≈ 0,5� ��
�����	C ��	'����� 	������ �

����-��$�?��� 	��,������� I2f ∼�0	� ,����� 	�� 1 ◦ #���+��,����������� . 	��

�	������ ���
 ,��-������ ���
,���*��$��
C 	�����$�?*�� Gf ≈ 50 �)�P �� � 2f

��	'����� ��$�+�� ������������� �1����� 	�����*�� ��%�� ������� �������	 �����



�� #�������� �������/�����  0

�!" 0 ��$�+�� ������������D � �$ ,���/�������	'����� 	��%���������%�� '����

#���%��
 �00� 	����	����� %��������	�

����� ����� � �
�	���������� �����$��� �����
���
� 
������ ���
���
�"�	 (� )
�������� ���� 89�: ����	!���� �������� � ������
��
� ��
	�
"#�& � �����$����
��	���
	�
�
�
�
� � �������	�� � ��	�
�� ������7�#����
�# �$��%�7��	���� (� )
��� ����
������� �
	�
��
���� �
�������# �������
	 (� ) ��������� ��&

. ��1−xH�x!�63 	���� ���$�����$�?+,/��� 	����������������� 	��%�����+

����%�� ��
 ��
�� 	�������?'�� �'������	D 	���
�� � 	���� ,��/������� -��	��


'���
� �0 μ	 '�����������D ��'�������%��?�� -������%��? �� *������%��?� . 	��+

�����?' �� �������-�� ��	�������� �6#8 ������������ ���'��D �� � %�	��������+

,/���� �����	��
�����%�� � 	���� ��
 ��
��� ���*�� ���'
�� �
������ �'�����

���������-�� G�'��������P ���/�� ��%��
������� 8���� ����������� ����� �-�����

	��,������� ��
 ��'�� �������� �	��������D �� �'����� �-����� � ������ ��� ��+

����� �1��'�� %��
�������� ��� .� �'�������� *��������� %��
���-�� ���/�� ��

�'����� �������� �1�������� ��
 	?���D %��
 �� �'�������� ���? �-����%�� ��
 ��

�'����� �������� ��*����� ����� �������/� '��	����� 	����� %��
��%���� 8%%��

� ���%�� ��
 � 	������ 	��*����� ���	�� �'������	D 	��
-�� � 	����� '���+

$�?
�� ��
 $��*�� ���������*�� ��%�� I��	�� -���������D ��
 	?��� ���-��
��*�
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� 	�������-�� ������� 	������� ��� ���
����� �� > � 	����� 	��,��������*��

> ����
��� . ,��%������� 	�������� � 	�������-�� ����%��� 	�=�	���� ��������

��0 	4 *���� J��
,��������� ��
 � 	T ���
����	��
ED 635,5 �	 %����	%����C

'���� ������ %��������	D �� ���� %����	%������� 	��,����� ,���� ���������� �

	���� #���+,�������� > �%��
 ��� � 3��� '���-�� ������ > 
? �1���������� ���+

�
�� � 	����������������� . �����,����� %�	���������� 0D00� # '����������� I=

������� ��������	 � 	������ �����D %��
 	���	������
�	 � ����� ���
����	��


����������-?� ��?�? ��
�� . ,��
�
���-�� � ����� �-��� ���%��? �/�1� �� ���+

$�� ,��%���������*�� ,?��������	 �� �'����� ���������-�� *����������� �1�������

	������D 	��
 ���	���� ��
 �� �'����� �������
�� '��%���	���� 	�����%��? ���+

������� %��
����	 > ��%���*� ��*� ����� � %��
,/����D �1�*����� 	?��� '���� �

���$�����$�?+,/���� *����������� .� ���������� ��������� ,��-������� � 	������

��� �����,��� ��	���
� �� � 	������� '��������� ���-
� 	���

���%��� �� 	���������� �ZR�K+��� *��������� ��1−xH�x!�63 *����
�������

	��������������� �/�1�-1�� H� ���$�����$�?� ������ M#��N� ��� ���� *����
��+

����� ∼ 500[*��������� �/�1�-1��� �� ������	 *������� 	������?�D � ���-������

	������ ����-�� ��
����D ��
 ����	��
����� ,��%������*� �� ������	 	��� #���+

��,������� ��������� 	������������� ��������� ���*�����%����	� 8� ���'
��L

1◦ → 3,9μB/Ru atom → 600 emu/cm3� G����P

. 	������ ����� � #���+��,������� �������������� ,��-������ ΔΘ ∼ 1,5 · 10−3 ◦

*���D �	� 1 �	�S$	3+��� ,���� 	��� .� ������������ 
����	�� ∼ 20μ	+�� ,�����+

	���*�� �� 200 �	+�� �����*����������� ���	��*� �� � �ZR�K+����� �� ���
�--D

∼ 10−10 �	� �������
����� 
������

-.�+ ��
��#���	�� ���3&�7 �2!	�&	�2�3��8���� 	 ��
�	

. ������� 	���� �$+�����$�'��-���������� ���$�����$�?+,/��� 	�����%�� ��


6=,��� 	����������� %��������	D 	��
 ���? %��
���-�� ���/�� �� �'����� ��������

�1�������� � ��� G�P �-����� 	��,�������� . 	��������� C�� ��1-����� ��������ED

� 	���� � ,��
����� ,��
����
 %����	 ���		�� %E�1��D ��� G-P �-��� ���%��?

C�� O%���� �

O *���� %��
������� �� � 	�������-��� . 	��������� �1�*�����/� �
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	��������� �/��� ,��� %������
�D ��
 � 	������%�� ���-�	���������� '�	'� ��+

�������*�� ������? ���
 *����	�� G'≤ 10−6 	-��P ���� -����������� . ���������

%�*���������� 	���	����������� � 	����� ��
 �1'��
 GO��������� �%����OP *����

�1�/� � *����	���-��D 	��
 � 	��������� -����
���� %���� �

 ,������ > ��'������

∼�0 # %�	��������E > �����%�� *�� ���	������ $�����*�� . 	��������� �/��� ,�+

��� �� � ��������� �1'��
�� �� ���
 �-��� *�� ��������*� ��
	����� ���	-��D

� 	����*�� 	����
��� 	�������-��� 8��� ��
���� > � 	���� ,��/���� ����� ��%�+

�
������� > �'����� �-������ ����������	 ��D 	�� � *��� ���	-�� ��*� �-���%�� �

���-�	���������� '�	'�� $�������������	D %��
 � 	���� �� �1��
����� � ��%���

������
�-- *����	-�� ���
���

��� ���

���	� ����� �� �� �������������"����
� ���������� ����	
�� 95�
�! ����
���
�
�� � ��������� �
����# !������.� (� ) �%�������& �� � ��	�� (� ) �� � ������
(� ) ����������!��� � �
����
	� ������ 
������ �'�%�� .	& <��!�� �  < (
 )
����	&

���,����� ���
���C �$ ����� � 	����� �������� �1�/�*�*�D ��
�� ��������E

)��	%���� �����$� ���������*�� ���������	 ���D �� ����-�� �1-- 	��������? '��-+

��	�� �� ,��*������ 8����1� �� � ������� ���
 	������� ��� �����������%�� ���


���	�� G�0 	4 ���%�� �-� 0D� .P ���� � �����$��� �������/� %�
����D �	� ��+

��� ���
����*�� ����
�� 7����+%�� %�� ������ .� ���$���
 %�	��������E 	������

����� 	�� ���� ������
����D %��
 �� � %� � 	����� ,E���D ��
 � �����$� �� ��*�����+
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��� � 	�� �	������ ��������� �1'��
%�� ������ ���	������ $�����*�� . $��*�������

��������-�� �����������	D %�����-�� ,��%����*�D %��
 �����/�
�	 �1����	�� ����+

���?����� � $��*�����-��� . 	���� ���	����*� ,E���� ����/� ����%��� 	�=�	����

�������� �--�� �� ����������-�� �-� �0+�� 	4 *��� ���$���
 %�	�����������

����� ,���������� � ���$�����$�?+,/���� 	��%���������%�� 	�� ������� ����+

�� � �����,��
 	����� �1����� 	��������� ��
 	?���D %��
 � �����$� �1��''���
�

	����� � 	���� *���������? �������D *��
�� � ����� ����� 	��*��������� ���/�����

������ .� ������	 ��,�
�������� ����������-�� � ,��
����D � �6#8 ����������+

��� 	��,����� �'����� ���	���� �� ��
 ��/������''�� � )��	%���� �����$��� �� ��

�'����� ������%�� ��'��� �1��������	D �� � 	���������%�� �1������� 	����� 	��+

�����	 � �����,��
 I= '���$�?
� �1�/�� 8%%�� � 	����������� �� �'����� ������

���
�-�� �1����� 	����������� ��%���*� ��*� 	�����%��? �������� ����������	D

	�� � )��	%���� �����$��� ��
 ��� $�C������ ��������	� . $�C���� ��
 � �����+

���� �1'��
 -����
�%�� �1������� ����� ��� 	������ � ��������� �1'��
%�� ��

��
 � 	����%�� ��'���D *��
�� � $�C���� � 	���� %����������
���� ����
�-��

�1����� 	��������*�� � )��	%���� �����$� � 	���� ����������� ������� '���$��+

���%��? G���� ���3 G�P �� G-P �-���P� . 	��������� 	�� ���-�� ��� �-����%��

%������� �������� �1��������	D 	��
��-�� ��
+��
 ������
C ��� 	������ *���+

�	 �1	1��� ������� � 	���� %����������
���� ����
�-��� . 	�������-� -��
C�?D

�� �'����� ������%�� ��������� ������
C� ���������*�� G���� ��� G�P �-��P � )��	+

%���� �����$� � ,��
C� ����� 	�����-��� '���$�?-�� �1����%���D 	�� � 	���������

� -�	������� ��� �� ������
C� ���������*�� 	�����%��? � ,��
C� �� � )��	%����

�����$� �1�/� � 	����*�� ��
/��� �������	��
��''�� 	���������	D %��
 � ����+

��� 	���� �$+�����$�'��-���������� ���$�����$�?+,/����� > � 	�������������%��

%�����?�� > ������� �0 μ	 '����������� ��'�������%��?�� �����	��
��%��?*�

*��
��� . 	������� ,��	������������ �����/���� ������-�� � ������
C�%�� %����CD

0D� 		 ��	���
E �E��� ����������	 C�
D %��
 � 	�������-� �� � ��������� �1+

'��
-� $��� ���� �
C���� -� D �� � �E %��
� � $�C����*�� $��� ��
 ���� *����


,��/����� ����������� \�
 	���	��������� � %�������� � ������
C� �� � )��	%����

�����$� �1�1���

. )��	%���� �����$� 	��%�
����%�� ��$�+�� �������� ����� ����������� �����+

���� 
���� %��������	D 	��
�� ��
 ������	 �'�����D 5� ""2 �H+�� �'/�� %���+
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��� ���

���
� ����� � ��!�� �  
	 ����������!� ��	�
� (� ) ��
�
��	 �%�$�����* �� 
�
��������' =����
��� ������� (� ) �� �� ��� �
����# ��.���� (� ) ��������
��
� ������
��
� ��
	�
"#� (�� ����)* ������� � !������.� ��
	�
"#� (�� ����)& �
��.���� ��� � ���
��
�� �%��	� "���� ���� �%������� ��	�	 (
 ) ��! �
�
�	�&

,���*��$��� ���
����	��
�������*�� ����������	 ,�� �� ��'$�����	 � �����$���� .

�����$��� ���������� 	������	������� ����-�����	D ��
 ��
 �� ���	�1�-� �'�����

�1�������������� ��� ,���/����� 	�����*�� 	��%������%����	 � �����$��� ��,��
?

���	��D � ����-��$�? ,��%���������*�� '���� � )��	%���� �����$� -����
�-�� ��+

������ 	������� ��� ���
����� G0D� . →≈ 10	4P� .� ����������� ∼ 2 × 130

	������ �����$� ����������� ∼ 30ΩD 	�� � �1������������ ������ 2,2Ω *����

.� �$+�����$�'��-������ 	����� ����� � ���,/��� 	������������� G����/��+

-�� #���+��,�������P �1�-�� ����*���
���� ����� 	������� ���%�� ������? ��+

����� ���� 	��%����������� . 	������������� �'����� C���D 	�����$�?� ��$%+

���� ,��%���������*�� �1����� ����������� 	���� ��
 ������ ��$�+�� ��$%�����

������� �����	����	� . 	������ ������������-�� ��
����E������ 
����� ����+

-��D %��
 �� 1����������� � 	?����� 
������-�� ��?�?�� �������		������� ��D

��
 � 	�������������+	��������� �������� ���'*���� ��/������''�� ���E���� .

�����$�'��-������+	������ ����� ,��%������� 	E�������� �� ��'$��������� � �����

�-��� ���%��
��� .� ��
�� ���		�� 
��1�� ��$�+�� �������� ����� ������� �����+

���� 	��%�
�?
���� � ���
����	��
������� ���� � )��	%���� �����$��� �� �� �����

���-� ��'$���� �1�������������� �1�1���	D ��?--�� ��� ,���/������� ��
 ���$������+
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����� ����� �� �������������"����
� ���������� ����	
�� ������ �
����	 �����
	��� �����
�
�� �� ��

�?' ���������*�� 	��%��
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 G2�� [PD ����� � ����3+�� ���+

���-�� ���
 *�������'����� �������?'��*�� Gσc/σa 
 1P ����������D C�� �*���+

��
��	����?� *�������� ���������� .� ����D ��
�������
���� *������ ������'���+

	������ ����-�� 	��	�������D %��
 � ����3 ���� ������ %�	�������� �����+

	��
-�� 	�
���	 ������' Gσc/σa ≈ 3 − 4P �������	�� *��������� *���������

M�2N�

&��
 ���������C ����3

	��� ����� � 6�033 ���������� � TMI = 69K < T <
< Ts = 240K ����������� ����
�
	�	�� ��������
�� 
��
�
�"
� �
���"�	& � ��	
!��� ��
�
� � ���
��� ������������ ��5��
	
��� �
����
� ������ > ��
�
����	�� �
	�
��� ���
���� > �������� �
	�� ��	��	
��������!	�� �� � �����
���
�� bc ��� 
"�	 �6?�&

	�����-�� %���	 ��
	���

�1*��� 	��������E ,������+

��������� �1*��%��/�� �
�+

	�� � %�	�������� $�1����+

����*�� L ��
 %�=�������� ,����+

-?� ������	-�� ,����-� ��*�+

*� ���������� ,���������������

Ts = 240# �1��
���� M��ND

��
 ,�	+��������� �����������

GO	����+��������� ����������OD

��4P TMI = 69#+��D *��/�

'���� ��
 %����C��*CD ����	+

	������-���� ����,����	����+

��� ������������� 
��? �����+

������ TX = 30# �1����+

-�� M�"N� . ����3+�� *��+

���� ����������������� ���	�+

����� ������� � J��	� �����

� d+����'���� �����	��
�-�

����D ��
 � ,����������������

����� -��1*������ *��������� ��
 ����� �1�*�����/� 	�����%���D %� �
�	�� �1+

*��
/� �� ��
 ����- 3d+��������� ������	��? �4+ ��� ��*?���� �������
��� ,��%�+

������� � �/�1�-1�� %�	�������� �����	��
����� 	��,����� ���	� ���I����$�?�



 � ����3 3�

	��� ����� � �$�%	"%�� �������������	�� ��������� ��
�� �
	1���
��#� ���
�
�
�� ��� ���	� �����
����� �������!
� � 3d �
��
���


��������-��� .  ��� �-��� ,��*����� ��	�� �1*��*�D � ����3 ���-�%�	����������

'��	���* $��������� ��� ��'��� ��
����
� ����3+�� ������	��?D P63/mmc⊗Rt

���		�����*�� ���������� GP63/mmc � 	��,����� ���$��'���D Rt '���� �� ����/�+

�1���� ���		�����P %�=�������� ,����-�� �������
������ M�(ND 	��
 �� ����������

�1��
���� ���$����
C GcP ���������*�� ������ ��� . *������	 ���	�� ��
������

	����� %��
�������� �� � �������
��$�-��� Ts %�	���������� � �������� C3 ,����+

������ 	��,����� ���		�����
� � ��$� ���������*�� ���E���D � *������	 ���	��

�  ��� �-��� ���%��? $���$��� *���� 	����� ,����� ��%��
������� � �������
��$�

bc ���
�-��� 8� � ���������� *������� ����-�� ���	����*��� ��	 -�,��
����
� �

,�	�� 
�������D � *������	 ���	������ ��
 �������� ����������� -��1��1�� ��*��

����	��
��D ,/�������/� ���?�D %��
 �� eg *��
 �� a1g ��*? ,������ ���$���
�--��

G�  ��� �-�� ������ �� a1g �� eg ��*?� �������
� ���� � '����� 	�� 1����
��P�

. 
?*�� ���$���
�-- %�	���������� ����
�? ,�	+��������� ���������� ���� ���+

*��
���� 	��	��������� �� ���������� M�3D ��0D �2N �� �'����� ��Q����*����

M���D ���N ���������� *��������� �C� � �����$�'��-������ %�	��������,/�����-��

M�3D ��0D �2ND �� �
�	�� �1*��%��� � ,�
%� M�� N �� %��������� ��
/��%��?

M��0N ���	�����-�� ��� .� ���������� ����
� ������ *������� *���D � ��%��������

�1�1�� �����'��� �
����� ��������ED 	��������E �� ���'���������� ���������� ���

.� ���������� 
������ � �
�	��,/��� ���������� M��3N �� 	������� ����������	�+



 � ����3 3�

����� M���N ���'
�� �D�9@� �
�	������ ��	 *�������L 	���*���� �� ����������

d log ρ/d(1/T ) �������	���� ����*���
�-�� 	��
����� $�C$� 
���� �� ����������

%�	����������D �	� ����-�� 2(#+��� TMIG�D�9@�P∼��#+�� $�1���� M��0N� .

��������� ,����� ��%�� � ,�	+��������� �������������� ����? ,��
����� �1�-� %���+

���
� � p>T ,���������� .	���
�-�� ���� ,����%���� 	��������ED C�
 �����������

,��������D %��
 ��� �/�1�-1�� ���		�����
C ,����� *�������� �� ��
	���?�D *��
��

� ����3+-�� ��'������� ,�	+��������� ���������� ��/������''�� ���		��������+

�� ,�������������� �� ���� ���
�� M��2N� 8���� �������� � ,�	+��������� ����������

��	 
�� ��
/�� ��������� 	������� 	�	����	 	��
�������*��D �� � ���������

���� ��� �*������-�� ���		����� *�������� ��	 ������ ��	������ TMI �1����-����

���/� �00�+-�� ���	� �� 	���������� ���� '����� �1�����	������ ���������*��

	��	�������D %��
 *��?-�� ���		���������� ,���������������?� *�� ��?L � 	����

%�	���������� 
���� ��*� ��� *������	 ���	�� ������	��? ���	� $�����-?� ��


� c+������
 ����
�-�� -��1*������ $�������������� ��*�� ���������� ����'���	�+

��� 	��
�������*�� ���
 ��'��� ��
����� ������	��? ���	� $����� 
1���� �����D

$�1�����*� � �������� ��������$�?� ���		�����
�� M���N� 8��� �����	������� ��+

��'��-�� ��%�� � 	���� %�	��������� ����'����� ���	-�� ��	 �����D %���	 >

�  ��� �-�� 
�-- ������� ���%��? 	?��� > ���
 *������	 ���	 %��
������� ��

	����� ���	� $����-�� � �������
���� c+������
 	����� M�(D ��"N� . �1*������

�*��-�� 	�� ���
�-- ,��-�����C �1�����	��������� �����/�� ��	������D %��


���$���
 %�	���������� ���
 �/�1�-1�� *������	 '���$�? �����%��? � ��������+

-�� M��(D ��0D ���N� . -�	������� ,������ ����
��������� �  ��� ��-�����-��

,������	 1����� . TX %�	���������� -��1*������ 	������� ���������� ����� ��

����/��1���� ���		����� ���/�D 	���
�� '��%���	���� � ��������$�?� ���		�����

�� ��*�-- $�1���� �� a−b ���-��D �����*� c ����
-�� � %����C��*C 	������� ����

	��
�������*�� M�"N�

. 	���� %�	���������D %�=�������� �1��
����-�� � t2g ������������ > �  ���

�-����� 	��,������� > a1g ��������� �� eg ��-���� ����'������ %����� .� a1g ����+

'������ ���	-������? ��������'��
���� ���%��
�� �  � � �-�� -�� ������ 	���
�-��D

	��
�� �
����� z2 ����'����� �� %�*���� . %����C��� '��
� �� ���������� ���	+

��� ����� ����� c/a ��������	 �������� �����	��
�� � �
�����
����� �����	���� 	 �������
�
��� ������ ����! �� �������  ���
���� ��� ����������� ��
 � ���� ��������������
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Ts < T TMI < T < Ts T < TMI

#������
 �������� %�=�������� ������	-�� 	�������
4��$��'��� P63/mmc Cmc21 Im
��������'����� ,�	�� ,�	�� ���������

	��� ��������� � 6�033 �����
�	���� �
�����	�� ���� !
	�
���

�1��� �������'
��� �������/� � ���$-�� ���	������ *������	 ���	�� ����
�-�

	����D �� �--�� ��?�? ���
 ��,���� �>��� ������ a1g ��* �����������%�� *�����

. %�=�������� �1��
����-�� ��������? eg ��-���� φa �� φb '��
�� � ���$����
-?�

��,�����*�D �����?� ������ ����
��-� 	������� �  � � �-�� �1��'�� �� 
�-- ������

	���
���� 	��,�������D ��
 �� ���� '��
��-?� ��������? ��,���� �� ����������

$�C$���-�� ��%��
������ ��� ���	�� p+'��
��*�� �1����� %�-������$�?� �������/�

*��?��� 	��� ^����%�������*� �� �--�� ��?�? ��� > ��'������ ∼ 0.4�� ���
+

�������E > eg+��*����������� �� ��������>�������� �1�$�1�%���� ��%��
 �� ���
+

�������E ������*�� ������ ���������D ���
���-�� ���������� eg �������� ����'������

*����� � ���
��D ������������ ���	'���
�-?� ������� %�	�������� �����	��
-��D

	��
�� �'����� 	������ �� �����	�������� M���N�

	�	� ����� ��� ������ � �� a1g ������
	�
��
� � �
	�
	 "��$�� ��
����!
� 
�����
!���� �%����	 ����������!� ��	
!��� ��
�
� ���� �����	��& ��
���� �	 ����
������ � � ����
	
��� �%�	�����"�	 ��������# eg !�"���� �
��
� � �
	���
	��#�
������ ��
	�
�"� �����	��&

��� �� a1g ���������� ,����%����� �����
���D ,�	�� ��*�� ,��	�����D �����
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�� eg+���������� ������������ �� ��������� '��
���������$�?*�� ���������%�����D

�	���
�-�� �� ������	-�� ,��%������ �
���� M���D �� N� .� a1g �� eg �������+

��� ������������ �'�� ���-������ ,������� ��D 	��
�� ����������� �1����%�� �

'��
� ���-������ ,���� �������������� ,/�������/� *��
 ������� ��
���
E���� ���

�������� ������������D 	��
��-�� �C��
�	?����� � '��
�+ *��
 �'�� ����������

��	����D ���		����� 	��,���������-?� ��� *��
��D %��
 ��������� ����-�� � �'��+

�� '�
� ���������� �1�$�1�1��� �������
� ��
	���� 8	������ � *������	 ���+

	�� �1�1��� ������*�������� �'��>'��
� $������� ��	 ��%��
����%��?D �	� �������

$������ ���� 	��*��?������� ��	����
� M��3N� 8��� ����D %��
 � �'�� �����$�'��+

-������ χc−χa �������?'��
� ���� ���
 G±25W �1�1�� *�������PD �� ���� ���	���+

���� 	���� � ,�	+���������+ �� � 	������� ���������� �1��
�����-��D �%��
 ���

�  �3� �-��� ���%��
��� . ,�	+��������� ���������� ,������ ,�	�� �����	��
-��

χc(T ) ���$����
C �����$�'��-������ > ,���������%����� � ���������� eg+����������


�������-?� ����� > H����+T���� ��'��C *���������� 	���� peff = 1,2μB �B����*

	�	����		�� �� Θ < 10# T����+%�	������������

.� ��
�� *������	 ���	��%�� ������%��� ����'���	������ 	������ ��������

��
�� ������� ����'���	�������� ��D 	��
�� ����� *��
 ���
 � ���$-�� ��
	���

�1*��� ��$�'���%�� ���������� 8��--��� � ��� *������	 ���	�� ������	��? ����+

���
���� ���	� $���� -���� ������������ 
����	����D 	�� ��?--��� � �����	�������

��������� ,����-�� TX = 30K < T < TMI = 69K %�	�������� �����*����	-��

���������� . ,�	�� ������	-�� ,����-�� > TMI = 69K < T < Ts = 240K �1�1��

> ����� ���	-�� � �������� *���	��
 �����
��� ����'���	������� �1����� �����+

�� ����-- 	��,�����D ��
�� ��%�� '������ �� eg+��* ��������
��%�� ������? '��
�

���-������ ,���� '�������$�?
�� . �/�1�-1�� ���-������ ,���� ������ 	�����E

I�
���	-� *�����*�� ��%�� ���	�� ��	�� �����%����� � �������� ��������������

�� ���		���������� ,��������� ����������

. ����3 ������ � 	������� �� *������� ����
����������� ��
����� � �4+ ���

��
 3d1 ��������
� ,������� 8� �� ��
 �������� ��%�� ���� ������� �� a1g *��
 eg ��+

��'���� ��
���-��D �� ���� '��
�� ��������� -��1����� �� 	��*��?���%�� � n(a1g)+

+n(eg) = 1 ,������� ���
��/����*��D �%�� n(a1g) ���� n(eg) �� ����� ��*?� ��%��
����+

��D ��
 *������	 ���	%�� ������? ������� �����������	� �����%��
�� ����-��D
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%��
 ����3+-�� 
���� ���� ������ eg+�������������D �� �����?��� eg+�������������

��	 ���
�� ������ � ��������� ����	��
����� .  �3� �-��� � ,�	+��������� �����+

�������� 	�����-- %�	������������ ������ ���
 H����+�����$�'��-������ n(eg) ∼
∼ 1/2 ������ ��%��? �� � ���������� eg+���������� �'�� �����$�'��-�������*��D 	��+

����� *������ �����?��� ���������� eg+���������� ��	 ����%��
�� � %�=��������

,����-�� ��'������� ,�	�� *����������D ��
 � J��	�+���������� �� a1g ��*�� -��/�

���� ��%��
��������� )�����?��D � %�=�������� ,����-?� ������	-�� ,����-� ��*�*�

���������� ,�������������� �������������� $��� ����� ���*���D %� �� �  ��� �-�����

	��,������� ,�����
� �� eg ����'���� ��������$�?
���

5K. GO5�$��+������
 �''+

	�
� ����� � χc(T ) �
	���
	�. �
�	���� ���������
��"����
�* dχa/dT a���
	�. ����������"����
� !����
��
�� χc − χa ����������"����
� �	��
��#��� ���������
����$����� 6�033 �����	 �6��

��=�	�����OP ���	������ ����+

��� �� a1g �� eg ��*?� ���������

-��1������ 
?���
��D �� � ��+

�������� ���������� �E�E������

��'��� nLDA(eg) ≈ 0.28 ����+

	���
�� � ������������ 	��%�+

�������� �����$�'��-������ �1�+

-� ��	 	��
����%��? M���D

��2D ���N� .� ������	������

� K�J4 GOK
��	�$�� 	�+

�� I��� �%���
OP ���	������

����	��
� ������� ,��D 	��


	��	������D %��
 � ���$��

-��/�� �� ���$�� �1�1��� ���+

����$�?� �B������� �� �������+

��� ����*�� �1�1��� �������+

������%�� *�������D ��
 �� ���$���
 %�	��������� ,������-�� �� n(a1g) ≈ n(eg) ≈
≈ 1/2 �������� 	��,����� ���������������� *��?��� 	�� M��2D ���N� ����� �����

��%�� �� *���� � ��������� ����'�� 	��
�������%��� .� n(a1g)/n(eg) ����
 ����

�'�$����� ������ ��%���*� ����� �1*����*C ���������D '�� �����	������� ����'����

������������D 	��
��-�� � ���
 ���	�� ���	� $����-�� �� �������� ����'����

�������
� ��%�� aeeaD *��
 '������ ae1ae2 > J���� �� 	���������� 
�*���������



 � ����3 32

	��� ����� � 6����
��	��#	� Γ�@ �
	��� ��	��	 (�
	���
	�"�	) ,A ���	 ����
��%����"
	�
�
� ��	�������
�
� ������
���#��� �	��	���
� ������� (��� ������
����)* %��������� �� �������� ��
���
�
� 
����  #�
�� �
������� (����  
""��)&
�� �	��	���
� ��������� ������� � ���	��
�
��� ��
	�
��	 �
��
���& �� 
"�
	 �%�
�%�  ����� � ��������� �	��������
���
� �%�"�� (��	�������
�
� �	��	���
�>�%����
�	�����) �������������	�� ��������� �
����#���& B���� �%�%�  ����� � !
��	
	�
��	 3(C�)* ��� ������ �%�%� � 0(C!) �
�
���& ���� ������ ���� � � "��
�!���
�	��	���
� ������ ��� ��������	�� �
�
!�� !����
�� � � B������	����� �%���
��"�	& �� 
"�
	 ��	!��� 0(C!) �
� ���1��������* � ���	��	 !��������� eg
�
� �� � !���������* 3(πz) �
���� ��"��!��
�#!
�� a1g �
�& ���� ������ ����� � �
B������	����
	 ���� �������� ��
���
� (��	�������
�
� �	��	���
�>����
���
�
����
�) +?A �� ,A ���	& �� a1g �
� �����	 � Γ�@ ��
	� �"& C7,��	�� ���
��	�

���	������* ��� �� eg �
� �����	 ����� 	�� 1�������$	� ���& �62D�

	��,������� M���N� . ����
�������� �����������-�� � �*���+��
��	����?� 
�����

��%�� *��?-�� ,����� 1������*�D �� ��	 � �������� ��������' 
������� ����	��
�+

��D %���	 � ��� �/�1�-1�� �+�������� ����'�� ���
�� ����
C ����
���� �����
1����

����� ��%���*��

.� a1g �� eg ��*�� ��
	��%�� ��'���� ������* ��%��
����������� ������ ��+

������� ��,��	�$�?��� �
��%��/�� ��1�,��-������� ,��
�������	�� �'��������?'��

GO�����+�����*�� '%����	������ �'�$����$�'
OD .!@8�P 	������-��� �����*�_

�� 	���������� ��
�� 	��������� � ��*��������� ���$����
C ����'����?
�� �����+

'����� ,��D ����-�� ���%����� ��'���������* ����	��
���� �  ��� �-��� M��"N�

5��,������-- ����	��
���� 	������'��%��
��D %��
 � J��	�+����� ��
�� ���


����'���E�E���E ������� �����	��
-� ����D �%�� � ����'����* a1g ��* �1-- ��
��

�������������� ��������� 	��
�� ��*������������ ,���� -�$�������� 0D �� ��%��?�
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8� eg+����E ����'���� -��1��1������� 
����D 1���%���-�� � K�J4 ���	������ �����


?���� ������
 �B����* ��*�� 	��
�������*�� M��2D ���N� ��*�� �� n(a1g)/n(eg)

����
 ������ 	��%���������%�� � ���
�� ���������+�?���� *��� ������� ����� ��/�+

���/��D � �����?��� ���$����
-�� *������ .!@8� 	������ ��	 ������ ��� ��%���+

*�� .� ��,��*1�1� �'����� �'��������?'�� 	������ ����-�� ��	������� �� a1g �� eg
��*?� �1�1��� �
���� $�������� �� 	��	�������D %��
 n(a1g)/n(eg) ≈ 1 M���N� .

�1�����	������ ����	��
�� ������� � *������	 ����� *��
������ � �����	�������

����'��-�� �� ������D V 4+D *��
�� �� a1g �� eg ��*?� �1����	�����$�?���� ��/�+

�����''�� ��	'��������� ���� ��
	��� M���N� J����%����� �� n(a1g)/n(eg) ≈ 1

����
 � �������$�?� �1*�������-�� ������ �� G��	 '���� � ��*��������� ���������

*�������� 	����PD �� �� � -��1���� *���� �� ���������� ��������$�?
�%�� �� a1g

��*-�� ���

. ,��������� 	��,������� � ����3 ,��	��� 	�����
���� 	������������� ,����+

�����%��
/�D %��
 � J��	�+������� �1����-�� ��/��������E�� ������ ���	C �����+

���� ���� �����
��� � ������ �� ������
 d+�������� ����'����-�� ��
������ #����+

,��*� ��
 ���+��* 	�����-��D '������ �+��* .������� ��$� 	�����-�� ���������D

�%�� �� a1g ����'���� 
������� � �����
��� ��* �����'��D 	�� �� eg ����'���� �� ���+

��� ��������� ������
 ��*��� ,�������%����� 	��� R�?--��� ������ ����-�� �� ����

�1����/��D %��
 '��
�+��������$�?
���� I�
���	-� ����+� *����D *��
 > 	�*�� �

	���� %�	��������� ���������� ���������� ,�����
� � ��������$�?� > � 	�����--

�������
C eg ����'���?� ��������%��/��� .  �3� �-��� -�	������� �����$�'��-������

�������?'��� � �'��+'��
� $������� 
��������*�� 	��
�������D �	� ,���������� �� eg
����'���� ��������$�?
�� ��D %��� $��� ����� ���� ��	���E�� '��
�	�	����	�

. ������ %��
��� ,���������%����� ��D %��
 �� eg ����'����-?� �������� ��*��� ��

*�� �
���� ����'����?
�D ���� ��*/� �� ������	-�� �������
��� ,��%������D �� eg

��*?� ����'����?
� �� � �'��+'��
� $������� Js−p �������� �1��� ������� . ��*?�

�
���� ����'����?
� �� � �'��+'��
� �1�$�1�%���� $�1������ ��
���� �� eg ����'�+

��� ������	-�� �������
��� 	���� ��������? ���'���$�?
��D �� Δ ∼ kBT ������ �

,���� ��*? ���	������ �� -��1����%��� 8��� ��/������ ,��������� �%%��D %��
 eg

����'����-�� 	������� �������?'�� ������%����� ���

��� � �������
��������� � ,���������������� �1�/� ������-- ����� ����� 	��+
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*�������D 	��'�?-��%��
�� �� �������������� '������ �������� ����'������ I�
�+

��	-� *�*� 	���������� ������� ��� � ,�	+��������� ���������� � ���������� �����+

	�����$�?*�� 
����	��%���D � ���������� ���������� ������� ��	 *������� 8	������

� ,�	+��������� ���������� ������ ��	 ���������/�� 	��������'���� ��''��D 	��


������ �� ������������ ���-������ ,���� ������������ �� ���	�� ���� � ,������+

�������� %�
�?���
�����

. �����3 ���-�%�	���������� � ����3+��� ������ ���������E �� ������

�������	�� ����
����������� �����������D ��
 �����-�� �� � ����3+%�� %�����?

,����������	�� *��%������� . %��
��� ����-�� ��	 ��L �  00 #+�� -��1*��+

���� ���������� ����������� ,����	������� ���������� �1*��� Tc = 49# H����+

%�	����������D �� � �������� ,�	�� 	���� � ���
�� ����%��� %�	�������� �����+

	��
-�� M��(N� . ����3−δ+-�� 
���� ��*� ��� 	�����E ��� %���
 ������� 	��*��+

������
� � �������$�?� ���	������� �� Tc ≈ 10# H����+%�	����������� ����������

,����	������� ���'����'��%�� *���� M� 0N� )�����? ����-?� �����	��
��%��
��

� -����	 ���	�� *��/� ������ *��
�����ED �� 
?*�� ����-- �����$��	 ���	�����

�1����� %��
�����������D 	��
 � ��� ���������� ��,��	�$�?
� ��*�� 1����%C���

� �������
��$���D ��
 	?��� O��	��� �
�	���O ,�
�*� �� M� �N� . ��1−x��x��3

	������� *������ �
�	��,/��� ������'���	������ ���'
�� � ��	��� �
�	�� ,�	+

��������� ������������ �
������� %����� �1��� ������ � %������������� �
�	�� %�+

����*��� . ����1�� �
�	���� *������ %�	��������,/��� �����$�'��-������+	������

����	��
�� ������� �� ����,����	������� ��������� ���'����'�� TX(x = 0) = 30#

����������� %�	��������� � �����$��	 ���$�����$�? �1*�����*�� ��%�	���� $�1�+

���D x ≈ 0,08 �������� ���E���D 	�� ���
�-- �����$��	 ���$�����$�?� ������

,����	������� ���'����'���� ��������� 8� � ,����	������� ���'����'�� ����-��

> ��������-�� � ,������-�� -�	������� 	���� ��� ������� > ���������� .� ��
��+

$����� ����1�� �
�	���� ,������������ ,����������	
�� �  �2� �-��� ���%��
���

��*�� � ����3+�� �� � �/�1�-1�� *���������� ����? �������	�� 	���������� ,�

1������*�� �������� ���� ���
����D �� ������ ��
����� 	�����-�� � '���	������

*�����������*�� � �/�1�-1�� ��
��$������� ,����������	
�� �� ��� ���� �������

��������� . ��������-�� 
���� ��*� �/�1�-1�� ���-������ ,���� ���
 ���	� 	����

� ��%������ �����D �� ��
�� ��$�,��	��� 	����� 	���������� ��	 �1��
E ,�������

. ����3 ,�	+��������� ����������� �� �� ����� ����� -��1*������ �����	�����$�+
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	��� ����� � 6�1−x3�x033 ����%�� 	�
�
�
	 ������������� �
���!������ �

?
� -������� ��	 � 	����� ��������� ����
�������D �������%�� � 	����� '���	�+

�������� �'�$����� 	��*��������� ��/������� ���,�����*� �� ��������D � �'�$�������

	��*��������� '���	������ ��%��������*�� � ,�	+��������� ���������� ���
�	%�+

�?D �	�� > 	��� ������ > � ���
 %������������� �
�	�� �����	�����*�� *������

���������� �� �����	��������L p > pcr ≈ 29@� �
�	���� ������ � ��������� ,����

%��
��� ,�	�� ,���� ��'��� � ���
�� %�	�������� �����	��
-�� M��3N� 8� � ,�	��

,���� ����-�� �1--D � ����*��
�� ,�	������ ������ ����
�������� 	�����
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#���  ����
��� ���������� �� ����
��	��%�

)�%�&� ,	�����	- ������� �� ��.�	

���� ��� �  ��� '��� �����������-�� -�	������	D � ����3 ����
�����������

�������������� ,������ 3d1 ���������� �/�1�-1�� ���-������ ,������� ��'$������D

� ,���������������� ����� -��1��1�� �����'/� 	��� � 	�� ��'�� ��� 	��*���+

��������� ������� �������� ���	������ 5��%�����D %��
 � ��������� ����	��
��

$��� ��� �/�1�-1�� d+�������� ����'�� ��
/���� 
����������� ,������������*�� ��%�+

�?�� �� ������*�����D ���� � �����
��� a1g �� � ���������� eg ����'����� K������

	����	 ����� *��������	 � ����3 %�*�����+��'������� �� ,�
%�
�� � %�	��+

������ ,/��*��
�-��D 	��
�� ��
/���� �����	��
����� ��%�������� �� � ���,���

�������� ����'�� ��'$��������� 	��
�-- 	����������L � %�*�����+��'����� �����+

������-�� ����-- � �����
��� ��*?�D 	�� � ,�
%� ������ ����-- � ���������� ��*?�

	��%������?���

���	������	D %��
 � *������� ��
�������
�� ���	������ '���	��������� '��+

��� ��	����� �������%������� � %�*�����+��'����� �� ,�
%� *��?� ���������� 	��+

%���������%��D ����� � ������ ,�
����-�� ��	�������� ��
������� I��	������	 �

����3 	���� �'����� 	�������?''�� 	��%��������� ���	������ '���	���������

��������� .� �����	����� 	?����� ��	�������� ����� -�	������	D %��
 � 	����

%�	���������� �����	��
�-�� � %�	��������� �������� %����� 
������� ��%��D ��


�� �--�� ��?�? ������$�?� I�
���	-� *����� > �/�1�1��� � *������� ����3 	��+

��%�� %�����?D %����C��� 	����� ������ > �������%������� � %�*�����+��'�����

�� ,�
%� ��������� '����� 	��%���������%��� .  ��� �-�� ,���� �����-�� ���%��+


�� � %�	��������� �������� I�
���	-� *�����-��D *���	��� � '����� ���	������

'���	������ 	��%���������-?� ��?�? ������$�?� %������ � %�*�����+��'�����

%�	��������,/�������� ���I�
��%��
/�D %��
 	�� � %�	��������� �������� %���+

����� I�
��	�� ��*/� %��
��� ����-- $��� 	���� GT > 100#P %�	����������

������ 
�������D ����� � ���	������ '���	������ '�������� 	������� � %�*�����+

��'����� �-����C� �������� �� %�	��������,/������� � ���
�� %�	�������� �����+

	��
-�� %������� *��� ����� %�	���������� � ��� ������$�? ��
/���� %�����

�1-- 	��� �0W+�� *�������� ����	��
�� � %�*�����+��'����� ������-����

�"�
�� ���
��
	����	 ����
� � 	����	��# 	��
��
 �����$	�� �����	�� �� �������� �����!
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	�
� �����  ����� � 6�033 ������������������ � ����������� �$����	��"�	&
B�	���� ������ ����!�� � �%�"�� �
���	!"�	; � ���� �!��
� �
������#� 	���
�$� ("��	� �
���
	
� �%�"�)* ���
��
�� �
������#� 1������"� ��������� (�%�!
�������
�� �%�"�) ������	� ���
��
�� �
������#� �� �
����
�� ��
������� �����
������� 1������"� ��������� (	���	���
��� �
���
	
� �%�"�)& � ��	�� ��� 
"�
	
� ������������� 
�������
� �%������	 �%�	������ ��	 ��	�������* ��
� �� 
�����
���
� �
	�
� ������ (TMI) � E�������
�������
�
���  ������� ��.��  ����& !����
� 6�033 �� �� � � ����������� �$����	��"�	& B
���
	
� �
	��  ��%�� � ����
�!��
���* ��� �������
�� �
	����� �� �����
	� �� ����� ������������ ������
����������* �
�� �� ��� ����# �	��
��
� F�"����
!���	�� ��������� �%�"��  ��%��
���& �� $��� �%�%� �
�
""�* �
���	�
	 ������� ����� ���!��	���� ����� 
�
�6C2�& �� ���# ��� 
"�
	 � ����� ������������ ���������� 
�������
� TS ������
�������	�� �� ���
� ����	
��
� ������������$�����"�� �%���	� ������
�
�
�
�
�
���� ��& � �������
�� �
	�� � ����� ������������ ��	�
��� ���������� ����� �&
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. ����3 ���$���
 %�	��������� ��������� ,�����-�� � %�*�����+��'������� �

,���� $�C$� ����
�D 	��
 � %�	����������� 	������ �1*��*� ,���� ���	 �� ,����+

,���� ��?�?��� *���������� 	����
�� . $�C$��� ��'������ � K�-
�+%�	��������

�S�0+���� *��%��
��D �	� � ����--� 	������-�� 	��%��������� ΘD = 200#

K�-
�+%�	����������� ���	��*� ����/��-�� �� 
? -�$������� -����
�� M� �N� .

%�*�����+��'����� T ≈ 69#+�� 	��
����� ������� ������������ � ���������+,�	 ��+

��������� 
����� .� ���������� �1�*����� �1��
������ �  ��� �-�� ,���� �������� ���

�-��
�� �����
��*� ���%��
��D �%�� � @������+�������������� 
����	�� Q�����$�?�

������ ��� $�C$��� I�
��%��/�� 	�� � ,�	+��������� ���������� TMI %�	�������+

��� M�  D � 3D � �N� . ,�	�� ,����-�� 	�����-- %�	���������� ,��� �� �������+

��� 
���������� 	��,����� �1*������� I�
��%��/�� 	��� . %�*�����+��'�����-��

��	 ������� ���	���� *��������� ��	 �� ���$���
 %�	��������� 	������� �����+

�������� GTXPD ��	 '���� � 	���� %�	��������� ���������� ������������� GTSP�

. %�*�����+��'�������� '��%���	���� 	��%��������� ,�
%�� ���%��
�� � %�+

	�������� ,/��*��
�-�� �  ��� �-�� ���? ������ ,��
����� *������� 
��1�*�� . �1�-�

���$���
 GT < 50#P �� 	���� GT > 260#P %�	��������� ������� ��
 � ��$� ,�
+

%�� ����? ��������' K�-
�+	����� 
?� �������%���D ��� �� �-��� ���������� *�������


��1���	 M� 2N� .� �������	-�� ����� $��� '������ '��	����� *������ ,�
%�	����

����	��
� *��� ��	��� ����3 �����-��D ���� �1�-� '���
��� �� �-��� /��� �1�1�+

��� 
��1���	 M� �N� . '��	����� *������ 	���� > � ���%��?�� ������-- ,��-�����

	������ > 	���� %�	������������ �������	�������� ����� �� ��
�������
�� 	���

�1�-����� 8� ,���������%����� �--?� ����D %��
 � %�	��������� �������� %������

��	D *��
 ��	 	��,������� *����� I�
���	-��

. �1�-�� �����	��
�����*�� ���%��?D %��
 � ������'��� ����
��������%��

��'��� � ,�
%� > ,����	������� ���������� �1��1�%����� > 
?*�� �������
�--��


���� � ��������-�� -��1*������ ,������������������� . ���
 ���������C ��
����+

���
 	������� �� �� ������	 ����������� 	����� 	?����� 	���1*������� ,��-��+

������� �1��1�%����� � ,�	+��������� ���������� ����--� 	����%�� 	����� 
?+

*�� �����-- �� ���
�-- $�C$����� 
������ 	��� 8	������ 	�����	-�� � 	����

%�	��������� ���������� ���������� �� ��
�����	E�� 	��I�
��%���*� *��� TS %�+

� %�%�%� ������� ����������� ����	 	
� ������ � 	
� 	����	��# �
�&���� ������ ������
���
��
	����� ∼ 10− 30'�
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	����������D 	��
�� ������'���	��������� $��� � ,�
����� ���������� %�	�����+

���,/�������� 	����������-�� -��1*������ ��� *���������� ��%�� ��	������ G���

���%��
�� �  ��� �-�� ���? �������� ��� �-��
��P� . ���
 '��������C ,�
%�	����

��	 $��� � ,���������������� �����������-�� 
����� ����������D %���	 �� �-���+

�C� ����� '����� 	��%���������*�� �� ����?'�� *������� �*��������* ���������� ��

��%���*� ������ 8�� � �1*������ ,�
���� 	������ ����� ����
��
��

)�%�%� 1 ���������� ����
 �� �����
 .���������

. �����
��� �� ���������� �������� ����'���� *������� 
���������-�� -��1��1��

�����'���� 	����	�����%�� *������
�� 	�� �����1� � %�*�����+��'����� %�	��+

������,/������ � ,�	+��������� ���������� ,������D T > TMI ,�	�� ,����-��� .

��$��������� 
�������� � %�*�����+��'�����%�� 	��-�$�/�%��
/�D %� ,���������+

�/�D %��
 � ��������� ,����-�� ������� � ��$��������� %�*�����+��'������� 	��
/�D

�� �� ��� ��'������� > ,���� $�C$� ��-���� 	��,�����D 
����	���� > %��*��
,/��+

*��
 �������� %�	��������,/����� �����
����
/� � ,�	�� ,������ ��� .  �"� �-���

���%��? 	?��� � ��������� ,����-�� TMI+%�� �1��� � %�*�����+��'����� � κph ∼
∼ T−1,8 %��*��
,/��*��
��� 	��,����� *������������ ��%��? ��� 8�� ,��
���*� �

,�	�� ,����-�� �� �� ��*��*� κ0 	��� %�*�����+��'����� �1�-�-��D 	����'
�� ��

���������� κe 
�������� � %�*�����+��'�����%�� G�-��� �1�� ,��
����� *�������


��1�*�P� . ,�	+��������� �����������?� �����*� ���� 
������ � ������ C�� O'��+

$�����O �����	��
-�� ��%�	���� �	�������D 	�
� T ≈ 100# ,����� ��������

%�	��������,/����� 	���� � ���
�� *������� %�	�������� �����	��
-��� .%%��D

%��
 	����	��
/� κe �������� *������
�� 	�� � T����	���+J���� �1�*��
 ���
�+

�/�����D �	��
 � ,�	��D �����
��� *������� ����'���� ����� ���������� ������������+

�� %����	 ��'$�������� �� ���--� ��
����E 
?������ ��
�L

L =
κ

σT
D G ��P

�%�� κ �� σ � �����
��� ����'���� %�*�����+��'������ �� ,�
����� *�������'������D

T � %�	��������D L '���� �� C�� 5������+���	� J�	�� ������ � T����	���+

J���� �1�*��
 ��'������ ���$���
 GT → 0P �� 	���� GT > ΘDP %�	�������+

����� ���
��/�� . �1�-���� �����	��
-�� �� ��������+,���� ��?���� ,��
�	����
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	��� ����� �� ������
�
�� �� �����	���
�� %�������
	���
�� � 6�033 �����
(T > TMI) �
���
"�	& �� 
"�
	 κ0  ��%�� � ���� �������������������* κph � �
�
	
	 ��.�� ������������� 
�������
��
� �%���� ����
�
	�
�� ��������!� ����
	��
�$����	� �����	�� �������!���* κe ��!�� �� ���""� ����� �$�%	"����"�� ������
�
�
�
�� ������
	����  
�����
�& κe � G��!���		�B��	� �%���	�	�� ����������	
TMI ������ � ��� �� �����
�� ����������� ����
�
	�"�	 %������
�
����# � �� �
���
� ����	
��
� ������
�
	�� �������������� ���� ��
����
���* ������ �� 
"�
	
�������
�� �
	��  ��%�&

������-�� ��	 ������%���� �����	�����D ��
 	�� �� ����������%�� $��� � ���


�	'�����$����� *�������?���� ,��
�	���� 
������� %����D ����� � %�*������%��

� ��� �	'�����C ,�������� *��? �����	����� ��?��� �� �� 
�������� M� �N� .

5������+���	 ������ ,�	���� ���-�%�	���������� ��'������ 2,2 × 10−8TΩ#−2

�� 3,0× 10−8TΩ#−2 �1�1�� *��������

���������*� � ����3 �������D *������
�� 	�� ��%�� �� ���������� κe %�*�����+

��'����� 
���������� �� �  ��� �-�� ���? ������ -�	������� ,�
����� ����������

��$�'������� *�����
��� .  �"� �-��� ���������� *������� 
��1���	 � ,�
����� ��+

�������� ��$�'������� %�	����������� �� ��
 �����	���� *��������� > 5������+

���	��� 	��,����� > ����������� *��� ���������� �����'� 	?��� �� ����������

κe %�*������� 
�������*�� ���� 
? ��
����� �������� � ,�	+��������� ����������

TMI %�	������������ ��������� � ���
�� *������� %�	�������� �����	��
-��D -�+

�����*� �� ���������� ,������ O'��$�����O �����	��
� ��D �%�� � ��������� ,����

�������$�?� 
���������� 8� � 	��I�
���� ��� � ,������������ ��	����
� ���D %��
 �

%�*�����+��'����� ������������ 
���������� �����?��� �� �������	�� ������'�����
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	�� ������������$����� 6�033 ����
��	& �� ���# 
"�� "�� 
�!��� ��	���� �����	� �� ������
	���� �� �� ���������
����$������ ����� �* ��� �  
"" 
�!��� ��	���� �����	� � �� ���
� ����	
��
�
����������� ����. �
��������
	�� �	���� ����������� �����	�� !����
�� 
� 
"�
�
�
����&

�� 	��%������?D a1g �����
��� ����'���� ,��������� .� 1����*����-�� 	��%�����+

���� 5������+���	 ����������� ���
D L = 3,84 × 10−8TΩ#−2 ������ � �1����

�������$�?�-?� ��?�? �B����* �1	�� �1*������� 
����D �	� � � ����3 O�����

,�	O ����
�������� ��	����
� ����

.� ��������,�
%� ���������%�� � 	��� �������-�� ��*����	 � ��$���������

��������' K�-
�+	����� ���������*�� ����� 
��������� .� ����	��
/� ��'��� Δc

%�	��������,/����� �  �(� �-�� ���? ������ ���%��
��� . ,�	+��������� ����������+

��� 	��,����� ���� $�C$� �� � 	���� %�	��������� ������������ ���������� %�	��+

���������� �1��
�����-�� ���%��? ���	���� ��
 	�� ���	-��E��--� .� �-���

� 
�-- ������ ������
 ������� ���
�� �-�����*� � ,�
����� ���������� ���	�������

���'C �������	������ ��*��� %�	�������� �������� d(lnρ)/d(1/T ) ����*���
�� ���

. ,�	+��������� ���������� �1��
�����-�� � ��� 	���
���� 1����������%��?D �����

������ %�	������������ ����-�� � ������'��� ����
������-?� ��?�? ��,�
���� �1+

��� ����� ������� *��� ,��� .� ������������ ,�
%� 
������ %�	��������,/��������
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��	�����-�� �� ���--� ��'������ 	��%������%��
�� �� ���������������� ����?'�+

�
���� %�	��������,/������L

ΔS(T ) =

∫ T

0

Δc(T ′)
T ′ dT ′� G ��P

. ���	���� ����	��
�� �  �(� �-��� ���%��
��� ���-�%�	����������� �����*� ��

����?'�� ������� � 	���� %�	��������� ���������� ���������� TS %�	�����������

*����������D ������ ���
 '����������� Rln2� 8� �� ����� n(eg) = 0,5 �������

-��1���� ������ � �4+ ��� 3d1 ��������
���� 	��,����� S = 1/2 �'�� ��������

����������� ���������� eg ���'����'���%�� ������? 0,5 · Rln(2S + 1)2 = Rln2

����?'��
���� ,�������%��� 	��� . ���������� ����������� �1*����� �� ����?'��

,��
����� $�1�������� I�
��%��
/� 	��D 	��
��� ����� �� ����?'�� ������ � ,�	+

��������� ���������� TMI %�	����������� ��*� ������� ��������� �'' ,����� ��+

�����?���� ��*�� � �'�� �����$�'��-������ � ���
�� TMI < T < TS %�	��������

�����*����	-�� H����+
�����E *���������� 	����D �� ����?'�� 0,5Rln2 ������� �1�+

���� $�1������� ��
�����	E�� � '��
� ���-������ ,���� ��,��
������ ,���� 	���

. ,�	+��������� ���������� ����� �� ����?'�� 	������ $�1������� � �'�� ���+

-������ ,���� ���E����� 	����
�D �	� �����	����
� � �'�� ��' 	��
�������� �

��������� ,���� 	��������� ��	 ��������� �����	��
�-��� 8� � 	��I�
���� > �

������'��� ����
�������� �� ������������ ,�
%� 
������ ,�	+��������� ����������

�1��
�����-�� -�	������� 1����������%��?���� 	������ > �1�*����� -����
������

���������� � ,�	+��������� ���������� ����� -��1*������D � ������������ a1g �����+

����� ����� %�
���� ���������� ���������� �� � ���������� eg ���������� ����� ��*��+

���� 	������� �������$�?� 	��
���������� 1������'$���?������� .� ������������

����?'�� ���$���
 %�	��������� ���E������� 	?�
�� � %����C��*CD ����		��+

����-���� ����,����	������� ���� TX ≈ 30#+�� �1����� ����������� 	�� $���

����-- 	�����-�� -�,��
����
��

)�%�)� ������
-�������
�� �  ���� �� ��
���  �����0��

���� ���%�����D � ���1$%��	������� ����3 ����
��������-�� 
������� �
�+

	��,/����� ��'������%�����L � ,�	+��������� ���������� ,���������� ���
�	%�+

�?D 	�
� pcr ≈ 29@� �������� �
�	���� ���
���� ���E��� M��3N� ��
��� ���
 �
�+
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	���� *������ �����$�'��-������+	����� ����	��
�� ��	 ��	����� �� �������	+

-��D ��
 ��	 ���
�� '������D %��
 ����3 ������ � ����1�� �
�	���� TX = 30#+

�� �����
1*� ����,����	������� ���� ���E���+� � �������� �
�	��%�� �1�����*�

G*��
�� TX(p) 	���1������+�D ������� ��	�����+� TMI(p) �1�-��PD �� %� ���E���

	��
������+� %��
���� ,����	������� ���'����'��� ,���� > 	��� ��� � ��1−x��x��3

�����-�� ������� . ������ ����3 �����-�� ,����	������� ,���� ���������� ��		�+

�
�� ������ ���$� �� �������	-��� . �
�	��,/��� ,����������	�� ����'���%���

	���� %���	 ��%������� ���������*�� �  ��0� �-��� ���%��
��L

�� &��
 �
�	������ � ��		������� �����	������� ����'�� ���� �� ���'����+

'��� TX(p) 	���*���� TMI(p) ����� %����*� ��
 p∗ < pcr �������� �
�	����

���E���D � ,�	+��������� ���������� ��������� ��	 *������� ������� pcr �
�+

	���� *��? ���E�������

�� TX(p) *���	��
�� p∗ < pcr �
�	����� 	��,����� 	������������ '���-�� ��+

�������� TMI(p) �1�-�*��D �� �� ���$���
 %�	��������� ��������� ���'����'��

	���*���� 	������� 	����� p∗ �
�	���� � ,�	+��������� ���������� ��+

������� 	�� ����D %��
 *��������D %����� � ,������ �
�	������ � ,����%����

	�� ,�	>	������� ��������� ����������� ,�� �������

 � . pcr �������� �
�	�� �1����-�� � ,�	�� ������� 	��
������ ��
 	������+

��� ��������� ���'����'�� T ∗ ����������� %�	�����������D �%�� � 	�������

���� ��	 ��/��������E�� ������ � ����1�� �
�	���� ��'������� ��������

���?
�-�� �� *��
��D %��
 �� � ��� ���������� �/�1�-1��1� ��
	���?�D %�+

���� �� ���$���
 �
�	������ 	��
����� 	������� ,���� ��
 �����	�������

����'��-�� 
1� �����D 	��
 � p > pcr ,�	�� ,����-�� ���$� 
�����

	���� ����� 6�033 	���	�
�
�. �
���!������ 
	�� �
�
� ���������� ������
	����
 �
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K������ 	����	 ����� � ����3 ���
 �
�	��C ,����������	
� ��'$��� ,��+

	��/�� ���������� > �
�	��,/��� �����$�'��-������+	������ %�
�� > 	������+

������'��� 	��������� �����	��
����	� ���*��������	D %��
 pcr �������� �
�+

	��%�� �1�����*� > TMI(p) ����������� %�	�������� 	������ $�1������� 	������

> *�������+� � ,�	+��������� ���������� 
������D �/�1�1� ����������� ���� � �����+

	��
��D �%�� �� �����	����� �/��� 	������� ��� �������
� 1����	��%���*� *����

�� ����������� %�	����������� 	��,����� ���	���� �������*���

. *������� �����	��
�

	���� ����� � 6�033 ������������� �
������
�
	��
����	
��
��������"�� ������
�
�
�� 	�
�
��$����
��& � �$�%	"%�� ����"#���
� �$�%	"%�� ��	�
�
	
������� ������� ���!��	����  ��%���& � �
���!������
 ��%�� ����� ����� � ��� � ����
�
	��* ������ !
��
�
�� ��	�
� ������"�	 ���	��
����	���
�� �����
������ �����
����&

�  ���� �-��� ���%��
�� ��+

�	��*�D 	��
 � ,�	+���������

���������� �������� %�	�����+

������� TMI(p) �
�	��,/���+

��� 	����
� ����� 	�������

���-��� . ,����%���� ������+

-�� � �
�	����� ����������

*�������D 	�
� p ≈ 1,89@�

�1��
���� �� � ������$��

	��*�������L � ��������� ,����

�
���/����*�� TMI 	��������

$�1����D �	� � ,�	+���������

���������� 
��������� 	��+

*��������� 
����� #���--�

	������ ���'
�� ����-��

�� ���������� �1�-�� ����
�

�� ���������� �1��
�����-��

��	 *������� 
���������D

p = 1,989@� �
�	���� �� ���������� TMI ≈ 7,5#+�� %�	���������� ��*�--��

�� � d log ρ/d(1/T ) ����*���-�� 	�������? $�C$� 
����D � ����-- �
�	������

��'������� *���������%�� %�����?�� M� "N� 8� ���'
�� ��� 	���%��
��D %��
 �

,�	+��������� ���������� pcr �������� �
�	�� �1�*����� �1����-�� �� 	��������E

	����� . p < 1,59@� �
�	������ *������ ����--� 	������+������'���

	������ 	��	�������D %��
 ��� 	������� �����-�� ,�	+��������� �����������
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%�	�������� ���
����� ���,/����� 	����D *��
��

ΔTMI(p, B)

TMI(p)
∝ [B/Bc(p)]

2D G � P

�%�� � �
�	��,/��� �������� 	������� ��� μBBc(p) = 1,7·kBTMI(p) ��'��� �������

������?��� � ����� 	������� ���E ����������� %�	����������� M� "N�

. p < 1,59@� �
�	������ *������ 	������-�� �� ���������� 
�������� *����+

���?�� ��	 *��� 	��I�
��%��� ��		��
�� *������� � 	�=�	������ �����	�����

Bmax = 124 �/��� 	������� ��� ������ ��	� .� ���������� TMI(p) %�	����������

������*� 
����	�� ���������������D p = 1,59@� �
�	���� � 	�=�	���� ��������

Bmax ∼ 0,2TMI %�	����������� ,���� 	��� 8���� ���	-�� �� ������	 *�������

p > 1,89@� �
�	������� 	��,����� �����	��
-�� ��� ��'��������	D %��
 �

B < 0,2TMI 	������� �����  ���� �-����� 	��,������� �
������� �� ���$���


%�	��������� ,���� ��������� 
������� �� ,���������� ���E��� � ,�	+��������� �����+

������ 8� � 	��I�
���� ������� � ,�	+��������� ���������� 
��������� 	��*����+

����� 
���� � ,����������	 p > 1,89@� �����	��
�-��� . �
�	�� �1*�����*�� ��

���'����'��� ��������� ,���� ��
�� ��*��-� ���� ���-�� � �/��� 	������� ��� %�����+

*�� ���	-��D �	� ,���������%����� � �/�1�-1�� ���-������ ,���� *������������

����	��
�� .	��� �� ����������� %�	�������� TMI ≈ 15# ��� $�1���� � ��������

'������ 	������� ��� �����	�����*�� �� ,�	�� ����'��-� *�%����

��
�� 	������� ��� �������� ,�	+��������� ����������� I�
��%��/�� 	��

�  ���� �-��� p = 1,989@� �
�	�� ������D �%�� ����� 	������� ���-�� �� �����+

������ %�	�������� TMI = 7,5#� #�� 	������� �����-�� � %�	�������� $�1����+

����*�� �� ���������� 	������ ��D �	� ��������� ����'���?� ���C������� &��
�--

�����-�� ����-�� 	��*������� � �1�-�� 
������ �� � �������� ���'����'��� ,�+

	�� ����� . ������$���
�-- *������� %�	���������� GT = 2,5#P �� �1-- 	���

��� ���
������� *�������� 
����� �� ����������-��D �	� ��
�����	E�� � ������� ��*

���E����� -����
��
�� 8��� � �
�	���� � G � P ������1�*��
 Bc = 184 ��������

����� 
?�����D � ��� ����� �������� ,�	+��������� ���������� ����-�� 
?*�� ���$��+

�
�-- ����������� -��1*�������D �	� ������� �� ���$���
 �
�	���� ��'�������

*������������ ������ ����
���������� 
���� � �������� �
�	�� �1����-���

.  �� � �-�� p = 1,89@� �
�	���� 	���� -� �/�1�-1�� %�	���������� 	���
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	���� ����� � 6�033 ����	
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�	����
�����"�	* p = 1,98HE� 	�
�
�
	& � �������� 	�
�
� �%����"�	 � 6�033

� �
�	���� ��� 	%��������� �
�	���� ��� �	!��
�� ������������� 
�������
�
	
���� �������$�&

	������� ���,/��� ���������� �1�-����� 8��� � �
�	���� ����� 	������� ���-��

� �������� ��������� ���'����'����� ����������� TMI = 13# %�	�������� �����D �

���,/������-�� ����-�� ������� �������D %��
 � �/��� 	������� ��� *����������
�

� 	���� %�	��������� ,�	�� ,������ .� ���������� ����� �� ���������� *��������

,��
�����D ��	 I�
��%��� 	�� ���� ,��������������� . ����� 	������� ���-�� 	���

��������� ���	��*� � ������* ���������� *������� �/�1�-1�� %�	������������ 	���

���,/����� �������
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	��	� ����� � 6�033 ����	
��
�
	�� �
�	���� ����$����� �$�%	"%�� ������
���������	* p = 1,8HE� 	�
�
�
	& �� 
"�
	 "������
�� ����	
��
� �
��
�
�
�
�� �!
�� ������������	 ����� �
�	���� ���"�	 ���� ���������� 	
��
��� ��	�
	��& �� �����
	� �����������' �%�"���	  #� ���1�������� � �
�	���� ���
�	!��
�� ������������� 
�������
�& �� %�������
	���
���	� ����$	������ �������
�� �%�"� � ����� �
�	���� ���"�	 TMI = 13� ������������	 "��%�������
������������� 
�������
�	
� ������""* T = 25� ������������	 ���� �����&

)�%�2� �������� ��� ����� ���� ��� ���-��������	 ����� ����

. 	������� ��� ����� �������� ,�	+��������� ���������� 
��������� ��,��? ��'��

��'%�����D %� � ���
�� 	������� ���>%�	�������� ,��������� *������
�� � ����3

�������������� �������	����� 8���� 	��,�����D p = 1,89@� �
�	���� 	��%���+

������ %���	��	����?� �-��� ���%����� �  ��3G�P� �-�� ,���� '����
��D �%�� ��

R(B, T ) ,��/����� � ����--�� -�	������� %�	��������+ �� 	������� ���,/������
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 %���
�


������ �����
���� %������D 	��%������*� ��� � �������� �1����%�����? ���+

$�����$�? ������� 	���
�� ���������+,�	 ���������� �������%��? � ��������-��

M���D ��2D ���N� F�����-�� 	���%��
��D %��
 �� U/W ����
 �1*�����*�� �

��������� ,���� ��
�� ��-�������-- ����D � ,��������� ��
�� ����-- ���1��� � �1�+

���%�����? -�*������� �������� ,�	�� ,������� ���	-��� R�
����� ������ � ����3

���'����'��� ������ � 	���� ����
-��L � 3d1 ������������'�� ��������$�?
� 	��+

��E��� %������������� �
�	�� %������� G���� �� U/W ����
 $�1��������*��PD ��

�� ��
�� ,�	�� *�����*� *�����

@���*����� ���������E 	�����+�=����


�
� ����� � 8	3+ ���& 8	4+ ������
	�
����������

������ > -����
�� �'�$����� �1����%����+

�? ���$�����$�?���� > �� ����,����	��+

����� �'�� ������������� ��
/�� �/�1�-1+

�� ��		������-���� �1����+ �� '��
����+

������ ����'���� ��������� �� � �1����+

D �'��+D '��
�+ �� ��$� ���-������ ,����

���� �1�$�1�%����� 	���� M��"D ��N� 8�+

�� ���%����� ��%��
 '����� � 3��� �-+

���� . ��		������-������ ��������� ��+

��'���� ���	�����/���� ,��*� ��������� ,������ �������D 	��
�� �1��
�����-��

� �1����+ �� '��
� �������$�?� 
��������� ,������1����� )�����?�� ���-�� 	����

� ������
 ��*������������ ���������� ��
���� H6S66 ��������� ���'����'��� �

�1����%�����? ���$�����$�? ������ �����	��
�-�� M��(D ��3N� 8���� ���	-��

I= �1����%�����? ���$�����$�? 	������ �1*��*� �� eg *������� ���������� �B����*

��*����������� � H6S66 ,���� 1�����	��� �� ,�	�� ���'����'���� ��'���� 8%%��

��		������-���� �1��������'�� ������ G�	���� ��		������-���� �1��������������
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�
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����
�� �
���!������ � �
�
����������>�%�����
�!
�# (����) �
	��	��
��# �
������
	& � ��������� 
"�
�
� �
���������	 ��������# �
���� �� ���	 ��	!���!������ ����� 
� � ���������
�
���
���; � 	����� � ���	��* ��� � ��� �� �
� �� eg �
��
� ��
	�
�  ��%���& ��

"�
	 B � ����
�
�	����* ��� �* J:* J �� H �� �������.* J:������.* J������.
�� H������. �	������
�
�	���� �
���	�� ����� ��� �82A�&

������ ��P ���
�--D 	�� ����		������-���� ����-�� ����-- �B����* ��*���������

*������� ��/�������

. �/�1�-1�� �����+ �� ������,1��,�	�� %�	���� ����
����� -�*��� ��$%���� �

*������� ��* -��1�������� G�����
���� 	���������P I��	 %���������� '���*�����

���������E ��
���� �� 	�� �=���� ������ M���N� ��� �� � ��� 	�����ED ���-��
�+

���� ������������ �������������� �� � ,����	������� ,���� ����������� %�	�������+

����� ���
	�����E �����?����� ����%��
� M���D ���ND *��
 -����
�� ������-��

� ���
�� ,����������	�� 	��*��������%��
� M��3D �� N� . �������������� 	����+

�� ��
�� ������-�� �� ���������� ��?����*�� 
����	��%��� M���D ���N� . �����+

�� ������,1��,�	 ���	�� (1 − x)/x ����
�� ������? ������� ����*�D �� ���	��
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*�����������*�� � �/�1�-1�� ���������� 	���� � ��������������>�B����* ��*���+

������ G���������� ��?����>������� ��������P ,����������	 �/�1�-1�� �����	�+

�
��� ���
�� *��������� .� x = 0,5 ��		������-���� ����-�� � H6S66 ,���� �

���
,��C ���		����� 	���� �/�1�1��� ���-�� M��3D ��3D ���ND ����-�� ����� ��

�������� ��$��� �����*� � �/�1�-1�� ���'����'��� ,������ *��������� ����������?��

*������%��?� x = 0,45 ������ :� 4�	���� �� :� 4����� ���	��D �1--����-�� ��
+

�������
 	���� *���������*�� ������������ 	��%�������� � ��������������>�B����*

��*��������� ,����������	�� M��2N� 8�� ���%��
�� � 3�2� �-�� �1��'�� ������ �

. �/�1�-1�� ,�������� %������? ����C�*������ � ,����������	 ��
�� '���
�����

	��,����� 	������� 	��%��������� ����������� %�	���������� �=���'�������-?�

����	������ . ,������ 
��1������� > � ����--�� 	�� -�	������� ,�������� �C� >

.J� 
������ �� ����,����	������� ��������� GO����,����	������$ ���������OPD �9�

'���� � �'��/*�� ��������� GO�'��+����� ���������OP ,��������� .� �-�� ���?S,����

������ � ���G�--PS���
G�--P ������������ �������������� ����� ���%��
�� � ,����+

����� -�
��1�� �1�-�� 	����� ��%��
������ ��
���� %�	��������,/��� ,��������+

��	
��� TN 
��1�� � &���+%�	����������D 	�� TCOD TC �� TG � 	��,����� ,��������

*������
� �� �� ���� ,1�1�� ��%��
������ '���	������� ��������� ,�����?� GO'���+

	������$ ���������OD @�P�

��� � H�!+�B����� '����� 	�$%����	��� ���������-�� 	��� � 	�� ��'��

��	 ����������D �� �B����� �����
1���%�� ��/������ ,��������� ��
 ����� 	�� *���+

����� �������� ������������� �������%������� ��� ���	������D � ,�������-�� ��+

���
��� ���'����'��� ,����D 	��
�� ��������$�?
� �� *��������� ���� Q�����$�?���

������� � ��������-�� M��D ���N� . H�! 	��������� �����-�� ���� � 	�� �	+

������ ����,����	������� H6S66 ��������� �� ,����	������� ,�	�� ,����D 	��
����

��� ������������ �������������� ������ ��������E ,����%���� *������ �� ��
	���?�

� ��*���������>%�	�������� Gw − T P ,����������	�� G���� 3�2� �-�� ���? �����P�

. ,����%���� ��������E 
������ �� �� ���'����'��� ,������ 	���� ����������� %�+

	���������� GTCO(w)D TC(w) > 200#P � �/�1�-1�� ���-������ ,���� 
�������

1����$�����?������ �������� !���������������� ,/����� � ,����%���� > �%��
 ��

�-��� �� ���%��
�� > ���� T ≈ 200#+�� �� ���
C�%��D �%�� TCO(w) �� TC(w) ��


C�� -��������� *��'���-�� ������������ . 	���� ����������� %�	���������� 
��+
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��� �� ���'����'��� ,������ ���	���� Q�����$�?���� ���	-��� ���-��������� 8����

���	-�� � �������� '��� �1����-�� 	�� ��%��
 ����� ���
���C 	������� ���+

��� ���������+,�	 ����������� �������%�����D �	� ������� 	����
� � ���	������

���'����'���� ���-���������� �1�1�� 	����*� '��$�� ��
���C�
�D �����*� �����

	������� ������ ���	-��� �������
����� M��(D ��3D ��"D ��(N� 8� � ��� ��+

������ ����,����	������� �→ ,����	������� ���������� G�'���� �����������P �

���-������ ,���� 1����$�����?���� 	���� H6S66 ��������� �→ ,�	 ����������

G�1����+D '��
� ���-������ ,����P �� ������	-�� ���������-�� �1-1� ���������-�

*�*� ���������� �� ��
-�� G��$� ���-������ ,����P� ������ ������*/� ���� ,����

Q�����$�?��� ����	��
�� � �������� '������ 	�����-- %�	���������� '���	��+

����� �����	��
�-��D �%����� � -��������� *��'��� 	������ ������� ��������E

%�	�������� �������� ,�������������� ����� 
����� � %����C��*C ������ 	����?

���'����'��� ,������-� M� 0D � �D ��2N�

. ������������ �������������� �1*�����*�� ,���������� 	����E��� � %����C��+

*C ���� 	������ ,����-��D 	�
� � -��������� *��'��� ���
�� ���E����*�� �'��/*��

,���� 
������ 	�� � ��� ��������� ,���� �1�1��� . ��� ���'����'�� �1�/� > �������

����'���	����� 	���� > � H6S66 ,���� �������
�-- � ����������������D %�����

� ������������ �������������� ��'���� 	���� �����
� 1����	��%��� ���� �����+

���� ,���� ��%��
 ��$�������?��� 	��,����� '������$�����*��� . ��������? ������

�1�-���� �����	��
-�� � ��������� ���'����'�� �� ���$���
 %�	���������� ,���

��
�� 
��������-- �1*����*C �1����+ �� '��
� �������$�?� -�,��
���*�� 
1� �����

TG+��� ���$���
�-- %�	������������ G���� 3�2� �-�� ,���� �����P� . �'��/*�� ,����

%�������� �1����-�� � ����������� 	������� ���������� �1*������� 	������ � ,����+

	������� ����������� %�	�������� ���
	�����-�� ��$�1����D �� � '���	�������+

,����	������� ,�������������� ��*�--�� �� ��������E 	���� � ��*��������� ������

�����	��
�-��D 	��
 ������� ��%�� � 	���1*������� H6S66 �������$�?� ����+

	��
�� 8�� � ,������������ ������� �����	������� � ��BC� �1�����+ �� !�	��+

��?���� ���������� ����	��
�L � TCO �� TG ,������ %�	�������� �����	��
%��

%�����?�� M� �D �  D � 3N ���
�-- ��*����������� ������ �� � H6S66 �����+

��$�?� �1*������� I�
��%��� 	�� ���$���
 %�	���������� ,��� �1�����*�D �������

�� ��������E J� ������������ M� �N� #����,��*���� �E��� ��%�� �� � ,�����������D

	�������� � ,����	������� �'��Q�����$�?� 	������ ���'����'���?� ,/�������/� �
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���
�� '���	������� �����	��
� ���
���-�� � H6S66 ,���� ���� �1*����*C ���+

����$�?� ����
�� M� 2N�

. ����1-- ,����	����� ������ 	��������E ,�������������� ����� 
����� �

	���� %�	��������� '���	������� ,����-?� � ,����	������� ���'����'��-�D 	�+

�
�� � 	������������� ,��
����� ����������� 
���� � �������� %�	�������� ������

8� �� ���������� $��� � ����� ���E %��������-�� �������D *���� �/��� 	�������

���-�� � ,�������������� %��
��� ��
 ,��
����� ��	������ GO$�����*��OP ���������

�������� *������D � ��� ����� �������� 	���	������� ������������ �
����� ����+

����E��D � ��� ��������� ����'�� �1�1�� ���������E 	������������� *����������

�� %�������������� .� �������	-�� ���	�� '����� �����%����� ��
�� ������������

M� �D � "D � (D �30ND ��� �������� � H�!	���������-�� ��'������%��?D 	��+

����� ��� ����� �������� H6S66 �→ J� ���������� ��� . %�	�������� �������� @�

�→ J� ��	������%�� %�����?�� �� ���������� ��������E 
������� ��� �� > ,/������+

�/� ���?�D %��
 ��� �������������� ������ � -��������� '��� �1��
�����-��D *��


���
 �������������� ������ � �'��/*�� ����'�� 	������ *������?���� > � H6S66

Q�����$�?� 
������������� �1*�������*�� 	��
������ �� �������	D 	��
 � J�

,���� ,������ ������ %�	�������� �����	��
�� 
����	�� M���D � 0D � �D ��2N�

. ���
 ������������ ���������������� ������	��?D �� x = 0,5 ����
���

	��,����� H6S66 ����'��%�� ��'��� ��� 	�����E �− �1--����� ������	��?

!80.55.80.45��63 	��������� ������ ��'������%��? H�!+
������� 	��
���+

������ ���	�� '�?-�������� �������� �� �������	-��� .� ��
	����� *�������D

�����
��� ���'����'��� ,������ ���� �� � �/�1�-1�� ���-������ ,���� 1����,��?����

��/������ �����?���	��D �� ��	 ����������� � '����� ������%�� M�3�D �3�N� .

	������� ��
 ����� *���	��
�� %�	���� �*����	 ,���� ���� Q�����$�?�*�� 	�+

�
������ � ����������� 	������� ���������� 	��
�������� M��(D ���D � 3ND 	��

	�� ����/� ������� � �������� ���������������� *�� � ,� %����C�
 �� '������$�?�

�B������� I�
���	-� *����� ��/������ � 	��
������%�� M���D ��D �3 N� 8�


C
�--�� 	��
����� 	����� ±e/2 �1����E '��
�+���������� ,������������� ���'����D

	���
�� � ����	������ ������ 	��
����� ��%�	���������� ���	������� ��������

��'
�� ����-�� �� ��
����-�� M�33N�



3� @���*����� ���������E 	�����+�=���� �2

&���  ����
��� ���������� �� ����
��	��%�

2�%�&� +�
����3��	 ������ *!0.551!0.45��43 ������-


5��
 
�

. ����������� 	������� ������������� ���������� 	�����+�=���� ,������+

����	
�-�� -��1*������ ���������� *��������� �����	��
�������� ������+

-�� �������	�������� *��������	 �� ��
��$����� 9�0.55H�0.45��63 G9H+

�6PD 9�0.55GH�0.75��0.25P0.45��63 G9H��6PD 9�0.55��0.45��63 G9��6PD

8�0.55��0.45��63 G8��6PD �	0.55��0.45��63 G���6P �� &�0.55��0.45��63

G&��6P ���
���� . ��	��� 1��������� *�����������*�� � 	����� ���	�� 3d(eg)

��������
����� �B����* ��*����������� *��������
�� G� ,��������� �������
�-�� �1+

*��
/�PD 	�� �� ���� ��
������ 
����	�� ���
 ������������ �������������� $���

��� 	�����-�� *���������

.� ��
�������
���� *������ ��
�����	C ����������	������ ����	��
��� � 3���

�-��� ���%��
�� � %�	�������� ,/��*��
�-��� ���I�
��%��
/�D %��
 	���� %�+
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�
�
�	���� ��	! ��������
�
	�� ��������������  ��%���&

	���������� �� ���������� �1�-�� ������ �����%�� ���*��������D �� ��
��$�����

�,�������� ������� σ2 =
∑

(xir
2
i − r̄2) = (0.01±0.003)-2! ���� ��  ����
�
� �� ���	�� ���

�
� 
� ��	���� ���
� 	������	�� � ��
��	! xi 
� ri � ��
������ 	������	 ��� ���������	��
������ 
� �.�	�/� �����
���! r̄ ����
 �� ����
�� �����
��
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�/�1�-1�� ���
����� ,�
����� ����������� �1�1�� ���-�%�	���������� ��'������+

%��? ��
 ���
������� �/�1�-��� T = 800K %�	���������� 	���1���� ��
 ∼ 2+

�� ,������� $�1����� . %�	�������� $�1��������*�� ������-�� ,��*����� 
�����E

%�	��������,/����� ������ � &��6+�?� ��������*� �� 1����� *������� ��
�� ���+

��-��� . 9��6 	����� �� � ������$�� � *������� %�	�������� �����	��
-��

��	 *�������D 	�� 9H�6+-�� �� 9H��6+-�� ���������E �1*�������D 8��6+

-��D ���6+-�� �� &��6+-�� ���������E $�1������� I�
��%��/�� 	�� �� ��+

��������-�� �/�1�-1�� %�	������������� .��$���
�-- %�	���������� ,��� ����*�

���--� ������-�� ���������D ��?--���-�� ,�	�� *������� ����
���������� ��'���+

�����	� .� ���	���� *���������%�� ������? > � 3��� �-��� �
������� 
��1�� > %�+

	���������� ��
-������ :� 4�	���� 3��� '���-�� ��	�������� ,����������	
����

	��,����� ����������� %�	����������*��D ��
 � ����--� �1�����+ �� !�	��+��?����

���������� ����	��
��� I�
���	-� *�*� 	������'��%��
��D %��
 �� ���������� ���+

$���
 %�	���������� ,��� ��'������� ���������E �1*������� � H6S66 ���������D

	�� ���������E $�1������� � ,����	������� ,�	�� ,���� 	��
�������� 
���� M��2N�

.� ����	��
�� 1����*�����-�� �����/�D %��
 �� ����������� %�	������������ ��

���������� �1�-�� ��Q�=�?� '���
��-?� %������%��
�� 	��D ������ �-�������	 �

,������-�� ,�������� �������-�� -���?� 
�--�� %����*� � 3�"� ,����������	���

#�� ��*�������������� �����*� � H6S66 ,���� TCO ����������� %�	��������� �


��� ����� �� 
������ �����
�� 	��� ��������
��� ��	!������	������ ��	!�����
�� I:0.55�:0.458	93 ��	�
	�
5�!
� ����������!��� � �
���������� (
����
�
������%�!��� �
	���
�)>����������� �
���!������
	&

��*��������� �1*�����*�� 	�������� $�1���� ������� � �'��/*�� ���'����'�����
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.� ��
�� ���'����'����� ���������� 9�0.55��0.45��63 ���������� �1�-�
�� ���%��?D

%��
 � %����C��*C H6S66 ,���� ���E���� �������� � �������� ��������� 	����

� ���
�� *������� %�	�������� �����	��
-��� . ��*��������� ��*�--� �1*�����*��

,����	������� ,�	 GJ�P ���'����'�� ������������ �� �1*�������� �1*��%��
/�

�
�	�� !8=8�D �	D �� &� ������� . ����--�� ��	����������� 	��,�����+

�� �� ���������� �1�-�� ���'����'��� ,�����?� ,/�������/� � 	���� %�	���������

����������� ,����-�� ������ �������%�� ���*��������� 8� � 	��I�
���� 	��+

��
���� �� ��,��*1�1� �'��������?'��*�� 	��� �'����� *�������'�����-�� ������

%�����? *������������D 	��
 ������� � 	���� %�	��������� ,����-�� �� ��
����

�'����� ���
������� �'�����	� �1��� ������D ,/�������/� �� ���'����'�� 
����������

�������� �����	����
�� � ����--� ��BC� �� !�	�� �1�������?����� ����	��
�+

�� M�  D � 3D � �ND 	��
�� ������� � �1����+ �� '��
���������� ,���� �1*����*C

Q�����$�?� 
���� *����� � �
1������� ������ ����
������CD ���	������ ���'����+

'���� G����,����	������� ��������� �� ,����	������� ,�	P ,������ '���	�������

��������� G@�P �����	��
 �����
��� ����?
�-��� . ���	������D �/�1�-1�� ���'��+

��'��� ,������ �������� �	������ ���� ����D %��
 � H6S66 ,����Q�����$�?� ���'+

*��� �����'�� 
�������� � ����������� 	������� ���������� 	�$%����	���-�� ���


��� ����� I:0.553�0.458	93 ��������
��
� (I:=:�* 3� �� K!) ����	
��
�
�
	�� ������������$�����

. 3�(� �-��� �/�1� -�	������� �����������1�-�� �����	��
�����*�� 	����+
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��'������	D %��
 � ��*��������� �1*�����*�� ��������? ,����	������� ���'����'��

� �'��/*�� ,���� �1����-�� ��������E ,�������������� ����� ��%��� �� � 	����

%�	��������� '���	������� ,����-?� G���� %���������� �� ���������E *������� ��

���������� �1�-��-�� 8�0.55��0.45��63 �� �	0.55��0.45��63 ������P� . ��*������+

��� �1*�����*�� ����-�� �� ���������� 	�����-- %�	���������� ,��� ���?���D �� �

,�������������� � %���������� �� �� ���������E *������� ���E����*�� 	��������E*�

*���� G���� &�0.55��0.45��63P� ���� ��� � 3��� '��� �����������-�� -�	������	D

��� ������������ �������������� ������ � -��������� *��'��� 	������ ������� ����+

����E %�	�������� �������� ,�������������� ����� 
����� � 	���� %�	���������

'���	������� �����	��
-?� � %����C��*C ������ 	����? ���'����'��� ,������-��

. '���	�������+,����	������� ���������� ��������E 
������ ����-�� > � -�	�+

������ ���������� �1�-�� ���'
�� > ���
,��C ������������ �������������� ������ ��

	��	���� � ��*��������� ��
 ������ �����	��
�-��� . ,�������������� ��������E

�→ 	��������E ��	������ � TC(w) ,����%���� 3��0� �-��� 
��1�� �����	��
����

*���������*�� *������	D 	��
%�� � G�	1−x&�xP0.55��0.45��63 *��
/��� ��*���+

�������� %�������	 ���
 ��'�����-�� � ��	��� 1��������� G�	 �� &� ����
�P

*�����������*��D 	�� ����-- ��'����-�� %������������� �
�	�� �����	�����*���

������� 	?�����D �� ������� �������� �1*����� M��2D ��3D �33D � �N �� %����+

��������� �
�	�� �����	����� M�3�D �32N � ,����	������� ,���� ��������������

,������ ��'�� ��$���������� ��������


���� ����� � �����
�	���� �→ ����
�
�	���� �
���
�������
� ������	!' �→
�
�
!��	!' 
���	���	�� �����
���� �
�
	 �������������� TC(w) �
������
�
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2�%�%� 1 �������� ������������ ������ �������

. ��*��������� *������������ �C� *��������	 � �/��� 	������� ��� %������ �

,����	������� ������������ �� 	��%��������	 �� ����������� %�	�������� ���+

,/������ GTC(H) ,����%�����P � ��*��������� �/�1�-1�� ���������� .� �����������

%�	�������� 	������� ��� %������� -��1*������ ���
	�����E �1*������� ������+

����� 
����	�� � ����������� 	������� ������������� ���������� 	�����+�=������D

�� ���������I�����--�� ���
 ������������ �������������� ������ 
������ 	���

. 3���� G�P �� G-P �-����� ���%��
�� � �	0.55��0.45��63 ��
 	����� ���	��


��? 	��������������� �� ,�
����� ������������ � %�	�������� ,/��*��
�-�� �/+

�1�-1�� 	������� ����� ������� .� �-����?� ����*��%��?D %��
 �/��� 	�������

��� %������� �� ���������� ���������ΔTC(H)/ΔH ≈ 0,9#/�9= 9#/4 	�����+

-�� ���?��� � 	�����-- %�	���������� ,���� 8���� '��%���	���� �� ����������

��������E 
������ �
���/�D �	�� � %���������� ���������D *���	��� �� ���������� ��+

��� -��1*������ 	�������������+ �� ,�
����� ���������� *������� $�1������� 
�����

��� � ������������ ����������������� �� ��������E ,�������������� �1��
�����-��

��'������%��? ���	�����	����+ �� ������'��� ����
���������� �
������� %������

����? ��	������ 	�� ��	 ��������� ��D ,���������%����� � �������������� ,������ �

	������������� �� ���������� �1�-�� TC �1��
�����-�� ��'������� ������������+

���� .� ��������E 
����� ���E������� �*��������* 
����	������ > �� ������� ����-��

� I����� 	���
������-�� TC+��� -��1*������ ���������E *������� %��
��� > � ��+

*�--���-�� � %���������� ��������� *��������� %��������	D 	��
 � ��������� ���+

���-?� 	��-��%��?--�� %������%��? 	���� . 	������� ��� �������� ������ ,�����

> �	0.55��0.45��63 ������ Hcr ≈ 37,5 �9 > � %���������� ���
���� ���E���D �� ����+

����E ,��������������� C�� O$�����*��O �����	��
 *���
� ,��� )�����?��D � �����

	������� ���E �������� %�	����������� GTCP 	�����-- %�	������������ *������

���,/������ ������ � 	������� ��� ����� %�
���� ,�������������� ��������E 
������

�1*��*� %�	������������� � 3���� �-�� G$P �������� 	��,������� ������� $�1�+

���� G. ��*�--���-�� TC > � ���,/���� �='��$�� ������� ����/�� ����-�� > 	�����

� ����� ���E ����������� %�	����������� ,���� 	��D �	0.55��0.45��63 ������ ��

�0�� � 
 ��
	 ���	��� 
� � �������
��� ��
����


� �������������� ������� ��� �����������
�� � ���
��
	���� 
� � ��
����� �
� ��������������	 vT 
� vB ������

�! � 	/�
�����	��
�����
 ������ 	 �&��
���	 	 � �� �

����� �vT = 0,212���� 
� vB = 0,0532������
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���� ����� � 3�0.553�0.458	93 �
����������>�����������>�
�	���� ��� �
�
���!������ 
	�� �������������� �
�	���������� �� ����	
��
�����������& �� "��
�� "�� 
"�
	 �
���� �� �� ��� ��	�
	 ��
���  ��# �
�	���������� �� � �� ���
�
� ����	
��
� ������������$������ �$�%	"%�� �$��� �
�	���� �����"�	* ���
� "�� 
"�
	 � �
�	������������ 
"�
�
���� � �
�	���� ��� �$����	��"�	
�$�%	"%�� ��������������	& � �������� ���7����������� (Hcr7Tcr) ������ �
����������� ���'	�� �� � ������������7�
�	���� ��� 
���� �	!��
�� ������	!'
�
���
�������
� �����	 .	& <��
��
���< ����
�
	�� ���
��	�& � �������� ����
	��7�����������	�� ��������� ������������7�
�	���� ����$�������� �������
�
�� �
	��  ��%��& "�� 
"�
	 �� ����	
��
� ������������$������ �
���� �� �$�%	�
"%�� ��!�
��������� 	�
�
�
� �����	 (+ �"��≈A*+ HE�)&

∼ 130#�P . %���������� > ���� �� ��������E ,�������������� > �	0.55��0.45��63

������ ����1�� �
�	���� Tcr ≈ 165# �������� %�	���������� �E��� ��D ��� �

'����� GHcr, TcrP �� ��������E ,����	������� ,�������������� *���� ���E ��������

*��'���
���� %�*
���

)������������� �
�	�� �����	�����*�� � ,����	������� ,�������������� 	��

	�����-- %�	������������ ���?���D 	��1�-�� �� ���������� ��������E 
������ ��+

*�-- $�1����� . 3���� �-�� G�P �������� 	��,������� �� ����������� %�	��������

��������� ∂TC(p)/∂p ≈ 2#/�-�� 	�����-�� �1*������ G� �-��≈0D�9@�P� .�
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��������E 
����� 	����E����� �1*����� ����-�� ����� 	������� ���-�� ��*�--��

�� 	��I�
��%��� ,��������������� . 	������ ���'
�� �	0.55��0.45��63 �����-��

� �������� �
�	��D �%�� � ����� ���E ,�������������� ��������E-�� 	��������E*�

*���� p∗ ≈ 32 �-���

. ����� ���ED �
�	��,/��� ,����������	 ∂TC(p)/∂p ≈ 2#/�-�� 	����������

����������� ��$�� 1����%�������*� 	�� �������������D �%�� �� ��������E ���������

�→ ,�	 ,�������������� �������� *��'���
�%�� �1���� �����	��
� *���������� !�'+

���������* '�������� �������/� � ����+������������ ����
����--�� %�*��������

O	����� �����������OD � G�1−xH�xP263M�3�N �� κ−G84P2H�M&GH&P2N�� M�3"N

��
������D 	��
�� %������������� �
�	�� �����	�����*�� '���	������� �����+

���� ���'����'��-?� ���� ������������� '���	������� ,�	 ����'��-� 
������ .�

��������E ,����%���� 	���������� � H�������+H��'�
��� ��
�������� 	��,�������

� ,�������������� ����� -��1*������D ���������E ����?'��+ �� ���,����*�������-?�

���	��%��? ∂TC/∂p = ΔV/ΔS ��'������D 	��
 � ��� ��
���� ∂TC/∂p ≈ 70 ��

300#/�-�� 	����������� ����	��
��� ��*�� � �
�	�� �����	�����	����� ����+

-�� � ,�	�� ,����� ���-������
�D � ��������� �→ ,�	 ,�������������� ����� -��1*��+

���� ���,����*������� 	����� '�����*D 	������ ��
 %��	�� �����?,������� -��/�

�1��� ������ � %���	 ��
��$�������� .� ��
 �'�� ��
����� 
��? ���,���� *�������

�������-�� 0,15, 0,36 �� 0,12[3 G�1−xH�xP263 M�3(ND κ−G84P2H�M&GH&P2N��

M�3"N �� !80.55��0.45��63 M��0N ������� . �1��� ������ ���,���� *������� 	����

� ∂TC/∂p 	�����������-�� ��'������� �1-- ���
������� ������� � ,���������+

����� ����� -��1*������D �/�1�-1�� 	�����E ����?'�� *�������-?� ����� ��� �

�'��+ �� '��
� ���-������ ,���� ���
	�����-�� ������������� � G�1−xH�xP263

�� κ−G84P2H�2GH&P3 ,�	�� �� ��������� ,������-�� ��
�����D �� ��
 �� ����?'��

*������� �������-- � �1����%�����?� ����������$�?
�-?� ����D ����� � �����������

	������� ������������� ���������� 	�����+�=���� ,�	�� ,�����-�� � �'�� ���-��+

���� ,����-?� ����	��? ����?'�� � ,����	������� ����������-�� ��?�?�� ���


	�����-�� $�1����� 8	������ � ,����	������� ,�	�� ,����-�� ,������������ '��
�

�������$�?� 	��
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. 3���� �-��� -�	������� 	����������� �1--� ��
���� �1����� 	����	����+

��*�� �������	�������� ,�������'����	 �� ��
��$����� ��*���������>%�	��������>

	������� ��� ,����������	
�� � 3��0� �-��� 
��1�� �����	��
�� ���$������*�D

	��
%�� �/�1�-1�� �	S&� ����
� ������	��? G�	1−x&�x)0.55��0.45��63 	��+

����� %��������	 ,��� . ����� ���E ����������� %�	�������� GTCPD �� ����������

��������E 
������� 
����	�� %���������� ��������� �� � �������� 	������� ��� GHcrP

�
�	��,/������ p∗ �������� �
�	�� �1��
�����-�� � 3���� �-�� �/�1�-1�� '�+

���
��� ���%��
��� ��� Tcr(p) %������������� �
�	�� �����	�����*�� TC(p)+%��

%�����? 	?��� ��D � �������� 	������� ��� Hcr(p) ∝ (p∗−p)1±0,05 ��'��� �������

$�1����� 5��%��?D %��
 � �/�1�-1�� 1���������E ��
���� ����������� %�	�����+

�������� �
�	��,/������ > � �
�	��������
�� �1����� 	��,����� ���������� > ��


�1�1� TC(p) �1�-��� ���%��?�� M�� N� 8� � %���������� ��������� �� � ��������

	������� ��� �
�	��,/������� GHcr(p)P �� ����D �	� ��� 	����
�D %��
 %����+

��������� �
�	�� �����	�����*�� $�����	 ������ %����� ��%��/�� ��D 	��� �

��	��� 1��������� *�����������*���

. ���
�� ��*���������>%�	��������>	������� ��� ,����������	�� � 3�� � �-��

,���� ������ ���%��
��D 	�� �� �-�� ���? ������ � %���������� ��������� *������+

��� 	�����	 ��
���--�� � �����	��
-��� .� ��������E ������������ ��������

,��/����� ��� *���� %������
�L � ����� ���E TC(p) ,����%����D �� � *���� ���E �����+

��� *��'�����-?� ���? GHcr(p), Tcr(p)P �������� %����*����� . ��*��������� G�
�+

	��D &� ���$�����$�?P �1*�����*�� � ��� *���� ,���������� �1������� ��
	��%��D

	�
� ��
 	������������ *��'���-�� �����������D �%�� �� ��������E ,����%���� *�+

��� ���� 8���	��
��	 ���'
�� � 	������������ *��'��� � ,������� (p∗ ≈ 32 �-��D

T ∗ ≈ 188#D H∗ = 0) ����������
C '���
�D �	���
�-�� ���6+� %��
���/� �

�
�	��������
 ����?
�-�� ���%��������	 ��*�--� � *��'���%�� ������? �
�+

	���������� 	��,����� &� ���$�����$�?� G�	S&� ����
�P ��D 	��
�� x∗ ≈ 0,33

������� ��'��	� . *��'��� ���
�-- ��*�����������%�� ������? ������� 	����+

�4���� �� ������� � �����	����	�� �

���� 	������
���� �� ��������* ����������	�����	
	����	�� ���&���
��	 �

������� ��� � �! ��� ����
 �
�! � ���	���� 
��������� ����!
� �� �����������	�� ������ ���������# �������
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���� ����� ��� ������ � � ����
�
�	���� 
�������
� �������� �������������
	�� 	�
�
��$����� (3�1−xK!x)0.553�0.458	93 (x = 0, 0,2, 0,4 �� 0,5) �����	*
	���� �
�	���� ���"�	& �� ����� �� �
�
!��	!' ������������� (EM�B8) �
�
������
�� �������
�� �� �
���
	
� �
	��* ��� �� ���� ���
�����#* p∗ ��������
	�
�
������	�� ���
����# ������������� ����
	�
� 	��� ���
� �%�  ����& ����
������ ����� "������ �� ����	
��
� �� �
�	���������� 	���� ���' ������������$��
�����"�� ������
�
�
�� ����������� ��������� (�������� �
�	���� ���) � 	�
�
�
�$����	��"�	& � 	�
�
���
�� 	���� �
	� � � 3�0.553�0.458	93�	�� ����� ���*
����� ������ � �$�%	"%�� K! �
	��	��
��# . ��	�
� 	���� 	�
�
�. �
	� ���
�� 
����
�	
� 	���
"" ����"#���
�  ��%���&

����E ,����	������� ,����%����� ��������D 	��
�� TC(p) � �
�	�� �1*�����*��

��*�--�� �� 	������ ���

. ����� ���E ,����	������� ,�������������� ��������E 
������ � �'��/*�� ,����

�1����-�� � ��������--D �%�� � H6S66 ,����Q�����$�?� � ���
��������--��� .�

��
��$����� ���
�� �1�/� �� 8�0.55��0.45��63 � J� ,���� ���������D $�����	 �

�'��/*�� �� J� ,������ %������ %��
������� �� G���� 3�"� �-��PD ��
 � ������$��+

�
�-- ���������� %�	����������� GTC ≈ 50#P �� � ������
�-- �������� ������

����������� GHcr ≈ 74 �9P� . %�	�������� ,/��*��
�-�� 	�������? %����������

��������� ∼ 14.3#D 	�� � ,�������������� ����� �� ���������� �����$ ���
������+

��� �����D �	� �� ��
��$�����-�� � ������
�-- ����������� 	������� �����������

����	��
���� ���� ��� � ,�
���� ���
�� ���%�����D � 	���� %�	��������� ,������

��	 ������%��/�� C�
 	��� ��
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Q�����$�?� ����
��� . Q�����$�?� *���� G�1�*�����/� TC ,����� ��'������ ��+

%��
 ��$�������?�
�P �������$�?� %����� �� ��������� ����-�� ,��
����� @� �→
J� ����������� ��������E ,���������������� *��������
�D � %�	�������� �1*���+

��*�� ����-�� � Q�����$�?� ,���������� ���E���� M� �N� . ,����������	�� �

���
�-- ��*����������� ,��� %����*� TC �1*�������*�� �� ���������� �1��
���+

��-�� �
���/� %������ > ��
 �� ���������� ��������E 
������ ��� 8���� '��%�+

��	���� � ����������� 	������� ���������� �� �� ���������� ����� -��1*������

���������� ����� ���
���� �� $�1����� 4�*�-- �1*��*� � ��*����������� � 	����+

�������� *��'���-�� � Q�����$�?� ������ ��������E 
����� ���E���D �� ����������

	��������E*� *����� . ����������� 	������� ���������� 
�������� ���
�-- ��*���+

�������� ������ �� 	��	����D ���
���� ����-�� �� ���������� �1�-�� TC �1��
���

,�������� ������������*�� ��
/�� ��*�-- $�1�����
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/���-�� ������ ��������' ���'��*����� ���'����'�� ,��,�������� �1*�����

M!�D ! N ����������? ��������� ��������� �� ��
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 � ��2+ �������� � ����� ����-- H�2+ �������� *��? %��
����������*�� �����+

��	�� �� 	������� ����
��������� ���-��
��%��?��D n Gn ∈ Z
+P *�����������*��

'���� �� �������� ����'���� ��	�������������� *��������%��
�� �K ��  K �1�1���

. ������� n = ∞+%�� ������? �����? ���	�D � ��!�63 �
����� ��,��	���

�1-1� '���*����� ������������ GPbnmP ���������� %���	��	����?� ��������� ,��+

��	�����D Tc = 160# H����+%�	����������� �� � �������	 ���	 ���
 ���	+

�1	������ 	��,������� ���� �'��+'��
� $���������� G∼ 0,3eV P M!�2D !��D !2N�
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	��� � ���
 �������� �� ���?D t2g '��
�� %��
������� �� S = 1 ����� 	�	��+

��	�� ����	��
��*�� . 3� ��������'��
�� �����
�����D � H����	-+�������� �

��*���������%�� 	����� ��$��� . ��!�63 ,����	������� ����
��������� ������+

-�� � !�Gt2gP �� 6G2pP '��
�� %�-������$�?
�*�� �����
1*� ������
 ��* ��������*��
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�������� ��� � ����--� ����	��
�� ,��
�-�� �� � ��' ��	 �� ���
���1�E

������� � �������� *�������������D 	���	��� ��	 ��/������ '������--D ��%�����

	��������'���� ��	����� �������

. H� ����� -�*�����*�� �� ������	-�� �������
+

���� ����� � I�4+ ������
�
	����������

��������� ��	 *������� ���	����*���� . ��!�63

���������� *�����
��� ��� 	�����-�� ��� �� � �1+

-1� ��$��?� Gc/a = 1,003D c/b = 0,996 ��'������PD

	�� � H�!�63 ������ �� �� ������� *���	�*�� ��+

�
�-- Gc/a = 1,01D c/b = 0,980P� .� x = 0 ��

x = 1 %������������� ������ H� ���$�����$�?����

	��,����� 
? 	������E ��
�������
�� ����������� ����

��%��D ��
������� �� ��?--� �*������� ,�
���������+

��� �1��1�%����� 
? 	������E �'���=����� *����
��+

����� ����������� H� ���$�����$�? ������ �1*����%�+

���� M!�"N� .� ��
�� *����
������� ������ > -�� �1��������� ����D %��
 � %�����?

�������
���������� �� ��$�������?
� 	����
����� �� �'���=����� I�	��� 	��,�����

��
�������
���*�� > � ��$� � ���-�������?� ,/����� ����--+���
�-- 	�����-��

������� ��4�63 ���-������ �����	����� ��� ������������ ��������� ����	��
�� �

M00�N ����
-�� Gc/a = c/b = 1,01 x = 0 ������P M!�(N� . �������� %������� � 	��+

�� � *����
����� ���
��� 	�������� ����
-�� 	���
C��� G���� ���� �-��� ,��/�PD

�� � �'��+'��
� $������� 	���� � �1��
E 	���������� ����
 � ������� 	�����+

��� ���� M!�0N� H� ���$�����$�?�?� ,/�������/� � 	����� ,�	�� 
������� 	�������

�� ���� �-����� 	��,�������� .� ��
�������
�� 	������ ����������� ���� ��$��

G∼ 2,5μΩcmPD *����
�������-�� � H� ���$�����$�? �1*�����*�� 	������ ���

.� �����������1�-��-�� ���	����� ��'��������� � '���	�������+,����	�������

������������� 	��,����� Tc %�	���������� �1��
�����-��D 	��
 � H� ���$���+

��$�? �1*�����*�� ,���������� ���$���
�-- %�	���������� ,��� ���?���� . ������

H�!�63 ��
�������
 �����-�� *������ ��
��D � 	������� ������������� ��
/��
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���� ����� 3�1−xJ�xI�93 ���
	�������� (��	# ����� 3�I�93 �� J�I�93

��������
��
� (<��	��� ��������<* 3J)) ����	
��
�
	�� ������������$����� �$�
�%	"%�� J� �
	��	��
��#� �����	&  ��	$ ������ � ���
	������ ��� 
�� �������
��� ��
	�. �
��
���	!# ���	�.�
�� � J� �
	��	��
��# �$����	��"�	& � 3�-�93

���"����
� �
��
���	!# � (aSTO) �������
�� �
	����� ��	  ��%��� �I2+�&


��? ���������� ���	���� 	�� ��	 I�
��%��� 	�� � *������� %�	�������� �����+

	��
-��� . *����
������� �1*������� ����� -��1*������ ��$��������� 	���� ��

��
�������
��%�� ��'��� � *����
������� ������ ��'������� �������� %�	�������+

��� ��� 	�����-�� �����?����D ��!�63 ������ �� �--�� ��?�? $�1������ �-� 2

W+�� M!�0D !��N� . �/�1�-1�� �=����-?� �1*������� *����
������� ����� ��
��

���
�-- �� ���������� � ,��*����� �'�� �������� ��D �1��1�%����� ��*��? ����
+

������������ M!� D !�3D !��N� . ��!�63 
? �������	�� �� %�*�����+��'������D

,��/��� ���-�������D ��	��� ����?��? ������ ���
 ����������� 	���� ���� %���������

-����
��� ������?��� �� �������	�� ����������� ���������%���

.� ��
��$����� ����������%�� �� �������	�� *�������'������%�� %�����?�� �

�����$�'��-������ H����+T���� ,��	������ 	��,����� ����������-�� ����	��? �B��+

��* 	�	����	 ��	 *������� ������������ � H� ���$�����$�? �1*�����*�� Gpeff =

= 2,8μB ��!�63D 	�� peff = 3,4μB H�!�63 ������P� . ,����	������� ,������+

�������� Tc �������� %�	��������� ����-�� > �� ����������	������ ����	��
��*��
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��	� ����� ��� ������ � 3�1−xJ�xI�93 �	���� ���	 ����������"����
�
	�� ���
����������$����� x = 0* x = 0,6 �� x = 1 �������	��& ���� ������ �

3�1−xJ�xI�93 �
���!������ �& -��� ����"#���
�  ����� � J����������������
(Tc)* ��� $��� ����"#���
� � G���������������� (Θ) �
	��	��
��#��$������
�I2��&

1���%���-�� > �� �� � �-����� 	��,������� 	������ $�1����D 	�
� ��
 �����+

��� H� ���$�����$�? ,����� ���E��� M!�2D !��N� 8��� 	��I�
������ ���'
�� ��+

���,��*� ,�������������� �E��D %��
 � '���	������� ,����-�� 	��I�
��� �B����*

	�	����	 � �������	 ���	���� ��%��
������ $�����	 ���
�� S = 1 ����������

�'������� ����	����U � %����C��*C 	������� ���� ���E����� '���� � !�66 �����+

����� ��������� ������� . H� ���$�����$�? �1*�����*�� ��
���� � !�+6+!� �1��+

��� ����� -����� ��1��� *��������
�� ��3� �-����� 	��,�������D �	�*�� � !�+6+!�

���	���� �������/� �1�����D ,����	������� 
�����E ������ ��$���������� �
�����+


/� �� �������	���� !�+!� ���	�� �1�1�� 
������*�D ����,����	������� 
�����E

������ ��$������������ ���	-��� . H� ���$�����$�? �1*����� ��%�� �1�*��*� � ��+

$���������� �������� ������* G,����	�������P �������� '�����* G����,����	�������P

������� �1����� *��������� ������ M!��D !�"N�

. ,���� ��
����E ��'�� �� ��?--� �*������� ��	����� �� ��������� ���������

��*�-- ���
������ .� ��������� ,����	�������� *��������� ����� �����/�� '��+

����D %��
 � H����+T���� ,�������� 	��,����� �����$�'��-������ ��	 '���1���

-����
���� ���������� 	�	����	�� ����������D ��������� ,����	�������-�� � %�+

	��������,/��� ������� �'���E�E��� ����%�� H����+T���� 
�����E �����$�'��-�������

���� '�����*D ���� ������* T����+%�	����������� M!�(D ! 0D ! �N� #�������� �����+

�?� 	��	������� ��*�--�D %��
 � �������	 ���	���� ��%��
������ �'���� ��	
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���� ������������ M!"ND �� � H�!�63 ���'����'��� � ������-�� ,������������

����,����	������� 
�������� ���	-�� ��	 ���������� M! �D !  D ! 3N� J�
%�	�+

����� ��� ������
��D %��
 � H�!�63 ���	�����	���� ����
�������� 
?� ����%��?��

�1��� ,����	������� ,�	�� ����'�� ,������������*�� M!(N� . H� ���$�����$�? �1+

*�����*�� � !�+6+!� �1����� ����� -����� ��1� *����������� 	��,������� � 3�

��*��������� $�1���� M!�0ND �	�� � ��1�,��-������� ,��
�������	�� �'��������?+

'�� 	������ �� �����	�������� M!��N� ��������� 1���%���-�� &�! 	���������

-�������D %��
 � H�!�63 ������ � �'��Q�����$�?� ������������
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��!�63 ������D *��
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������ ������������ $�1����D �	�� �� ����������� %�	�������� *�������� 
?� 	����
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� ,����	������� �� '���	��+

����� ,�������� ����� %�	��+

�������� ��*������? �*����	

�������� '��� GOa�����	 $��+

��$�� '����OD ZH@P �1��
�+

������� *���������*�� M! 0D

! �N� .� �� � �-�� ������� �

��1−xH�x!�63 	����-�� x ∼
∼ 0,7 H� ���$�����$�?��� ���+

�� %�	���������� -��1*������ ,����	������� �→ '���	������� ���������� ��*��?

��������� ��%�������� 
�����%�� ���� C
 ��	������ �������������� . �'�� ����	���

&�! 	��������� �1����� �����	��
����� ����� �����/�� ��
 > � H� ���$�����$�+

?�?� ,/�������/� � ���
�� ��
��$������� 
����	�� > ���*������� ��������� ����
���+

����� ��	������ � �������� �'�� �����$�'��-������ �� � ,����	������� �'�� Q����+

�$�?� �1�1��� .� ���*������� *��������� %���	��	����?� ,����	������� M! �N ��
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�����	����?� ����,����	������� ,�	�� M! 2D ! �D ! "N ������ �*����	 ��������

*����������� ����D ��
 � ����� %�	��������E �*����	 �������� '��� ��������� ��

&�! 	������ �� *��?����E������

. ,����	������� �→ '���	������� ���������� *������������ ���	�������

	?�
� � 	������������� �����	��
�����D 	��
 *����
������� ������ � 	������+

�'����� #���+�B����� 	�����*�� *��?���%��? 	�� ���%������
�--���� .��$���


%�	���������� GT = 10#P 	��� ��Q����*���� �� �'����� *�������'����� �'�����+

	�� ���%����� �/�1�-1�� H� ���$�����$�?� ������ �� ���� �-�� �P �����-��� .

�'�����	 ���$���
 �������� �����	��
� H� ���$�����$�?�?� ,/�������/� %�����?D

,�	�� 
������� 	����D �  �� �1��
���� ���%��? ������ $�C$� �� 6G2pP '��
���?�

!�Gt2gP ����'��-� �1����� ��*+��* ���
���������� ��
� ��� .� ���� �-�� -P �����-��

� #���+��,������� GΘP �� ����'��$���� GηP �'�����	�� I�
��%��
/� 	�� � �1����

���
����������� 	��,�����  D� �� ,���� ������� �1��
����D �%�� η(ω)+��� ������+

������ *��D 	�� Θ(ω) ���
���� *���� ���� ΘD 	��� '���� η �'�����	� ������ �

���
�� �'�����	 � H� ���$�����$�? �1*�����*�� ����
���� $�1����D �	� ���'
��

� 	������+�'����� #���+��,������� �� ����'��$���� �1���� ���
����������� 	��,�+

���� �������� �1��
�����-�� �1����� �����	��
����� ��*��? 	?������ 
����� �

	������� ����
�������� ���$�����$�?+,/�������� *����������� M! (N�

�� �#������ �
��������� � %�%�6� ������� ��
�� �����������
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���� ����� � 3�1−xJ�xI�93 ��N�������
� �� 
������ �������������� ��������
�� (�� ����)* ������	� � ���	��
�
������ ��������
�!��
� (Θ) �� ����������
�
(η) ��������� � �%���� ��� ��������	�� ��������� �	����
� �%�	������"�	 (��
����) +A ���	* � J� �
	��	��
��# �$����	��"�	 �ICO�&
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. ����������� *�����? 1���������ED �'���=����� �1*��������� �����������

��1−xH�x!�63 *����
����� ������� 	��������������� � ���� � '���-�� ��	��+

������ 	?��������D � 	������+�'����� #���+�B����� 	����� ��*�� *��������	 ��

������	 ��,�
�������� 	������	������ Gλ = 635,5 �	P 	������+�'����� 	������+

�?' ���������*��� .%��
 ��� �� ���� '���-�� -�	������� Θ(ω) �� η(ω) �'�����+

	�� ������ ������D � ���%��? ,��
 �����	��
�-�� � #���+'���	������ �������

����
���� � 	���� 	��������������*��� . 	���� �/�1�-1�� H� ���$�����$�?
C

������� '���$�����*� � 	�������?'�� 	����	 � 	������������� %�	��������,/�+

����� �� ��
�� H� ���$�����$�?� ������� 8����� �� ����	��
���� ���%��
�� �� ��2�

�-���� !�	����� 	��������������� 	����	D ���� 	���� %�	����������D 
?*�� ��

����������� %�	�������� ,����� ��%��
����	 ��
 '��	����� 	������ ��*/���� ��

�'����� ��������� �-����%��D 	���
�� � 	�������-��∼ 250	4 ���
���C 	�������

����� ���������	 ���� .��$���
 %�	���������� %E�*� GT ∼ 3#P � 	������ ����*�+

�������	D 	��
��� ����� � 	���������������� ����
�� #���+��,������� GΘP ��	

*�������� ���	����*��� GΔΘ < 1WP� . ���
����� %�	��������,/����� 	�����

����-�� � 	����� ����*������� ����D 	��������-�� 	����	� . 	�������������+

��� ����
�� #���+��,�������� > � �������	������ %�-�� ���/��1-1���� ������-��

> �� ���������� ����
C 	������� �����%�� ������? ��	����� 	������ �/�1�-����+

-�� %��������	 	��D 	�
� � ���� � '���-�� ��	�������� ����-��$�? ���������*��

� 	��� ��������� ��*�������	 ��
 �������	 ���	�� 
��? 	������������� ����+

����� G1◦ #���+��,������� %����*���������� 3,9μB/Ru 	���������������� ,����

	��P� . 	������� ,����������	�� ������? %�	������������ *������ ���$�����$�?+

,/������ 	�����*�� �� *��������	D ���� ����	��
�� �� ���� �-��� ���%��?��� .

	���� %�	���������D �����*� ���
 H� ���$�����$�?�%�� ������? '���	�������

,����-?� �����*� �� ����������� %�	���������� �1����-�� ,���E�%��D %��
 > ��

���	� ,����	���������� ��'������������ ��������-�� > � 	������������� �1�-��

��	 	������� ��������������D ��	� �1*��������� ��������� . @� �→ J� �����+

���������� ���������� ��'������� %��*��
,/��*��
����E �������� *��������� ��	

I�
��%��� 	��� 8���� ��������� ����������� � �1*������D ������ '���-�� �����
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*������ H�1����� %�	�����������D �����*� $�1����� H� ���$�����$�?*�� � 	����+

��������� 	������ ��D ���$���
 %�	���������� ,��� ���������� .� ���$���
 %�+

	��������� �������� 	�	����	 �1*��*� H� ���$�����$�?*�� 	������ $�1�����

. ,����	������� ,���� ,�������� 	��
������� 	��� � %�	��������+D 	��� '����

� ���$�����$�?+,/������-�� ������� �
�	�� �1*��%���D �� ����-�� 	��%�����+

���� ,����������	�� �� ��"� �-��� ���%��
��� . �����'�� � ��������� ��
�� 
������

�1������ ���� 
��1�� � '���	������� ,������� 	��,����� ����� 	���������������D
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	�� �� ��
�� 	�����-- ������ � ,����	������� ,���� �1*��*� 	����������������

. ,����	������� �����	��
 ����
�� �����	��
��*� 	������'��%��?D %��
 � ,��+

��	������� ,���� � %�	�������� �� � H� ���$�����$�? �1*�����*�� �1��� ������

	?��� �E��� ��D �� ���������� �����	��
� ����-�� ���$���
 %�	���������� ,���

G*���������+�1��+�����+-���� ��*P ,���������� �������������

7�%�%� 8������  ���� �� ����� ����

.� ���$���
 %�	���������� �����	��
�-�� GT � 10#P ��� ��'��������	D

%��
 � 	������������� ���$�����$�?+,/������ ����? �1�-� > ���� �-���?� ����*��+

%��? 	?��� > 	�� �
����������� ��	 *�������D ��
 ,���������%��
/�D %��
 � T =

= 3#+�� 	��� �1�-� �� ���'����'��� ���$�����$�?+,/��� 	���������������� ,����

	��� ;���� %�	���������� � ,����	������� �� '���	������� ,�������� ��*�����+

�?D ,������������ �*����	 �������� '��� �����	��
�����%�� ���� 	�������������

�1�-� ��(� �-��� ���	��� ������ ���� *����������D �%�� � ��	����� 	����������+

��� ������ � �������$�?� �������� 	���1���� ��%��
 ���������� 5��%��?D %��


� �������� '���	���� G����/��-�� H� ���$�����$�?P ,��
����� *�����������*�� �
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	 �%���	�* ���� �� ���	��
	� ���	 ��	!�
������ E8 �→ B8 ���	��� �
���
�������
�
� ��	!������	���  ���	����"�	 �
��
���� �& �I,A* I,+�

	������������� ,��
������� 
������ 	�� 	�����,��� ������������� ����/�D ��
 ��

��	���� ��	 �E��� ����� ,������������������

. 	������������� ,�������� ���E������� '������-- �����	��
����� ������+

-�� *��������	 � 	������������� ���,/������ �/�1�-1�� H� ���$�����$�?� ���+

���D 	��,������� ���$���
 GT = 4,2#P %�	����������� 8��� ���,/������ �1�/�

	������ -� ��%��
�� �� ���0� �-���D �%�� � �/�1�-1�� ���$�����$�?�%�� ���+

���? �1�-���� > � �1��
E ��������%������ ���*���� > ��
	��%�� ��'��� ������

	�����-�� �������	 �� 
+������
 	������ #�� H� ���$�����$�?� ������ � ,��+

��	��������� 
����	��D *�����
��� ������ %���������� %������� ���%������ ���I+

�
��%��
/� ����-��D %��
 � ��� �� �1�1��� O����'$�����O � ����$���* ������ ��	

������D ���������E 	?��� �1*������� -�� . H� ���$�����$�? �1*�����*�� � %���+

������� %����� ��
�� ����--�� �� ��
�� �������������--�� �������D �� ��*�--��

�� 	��I�
��%����� ��� ��D �%�� �� ��(� �-��� -�	������� 	������������� 	��

	����� %�-�� -��/� ������ . %���������� ���������� x ∼ 0,5 H� ���$�����$�? ���+

��� 	�� 1����	��%���*� *���� � 	���� �������
����*��� . %���������� %�����-?�

	��%������%��? ��	����� ��������� ��(� �-��� /��� ���	-?��	����� 
��1���	D
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�������� ������ � �������� '�+

��	������� � �������� �����+

%�� �1�����*� Gx → xcP �

,����	������� Q�����$�?� ��+

*��������D �	� �� ���'����'�+

�� 	������������� �1�-�-��


?� ��I����� �1���� ����� 8��+

�/��-�� � �������� '���	�+

��� $��� ������������ ������	+

-�� *������� ��
��������� �

	���� ��������� ����
�-��D %�+

���� � ��SH� ����
 *�������+

����*�� �� ������ ����������+

-?� ��?�?�� *������� �������+

����� ���������������� *���/��
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��D �	� �� ��(� �-��� �������� ������� 	��*��������
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���������� ������e ���������D ���������� �'������� ���������� ,����	�������-��

�������������� 
��������-�� 	��	���� �� ���� ,��������������D ���� � 	�������

Q�����$�?� �������$�?� %����� ��*����� x = xc+���� ����� 	����ED ��������� ���+

������ �����	��
�� ��	 ��'���� ��������� ������������D 	������� 	�	����+

	�� Q������D 	��
��� ���������?
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���

5��������� �'���� ������ ��%�� � ,����	������� ,���� 	����� ���� ,�����������+

������ 
������ 	��D ,/�������/� � �����������������D �	��
 ���,��
�-- �����%��
�

�� ����������� '����� �� 	��*��������%��
� � �������� �='��������� M!3�N� 8��+

���� 	�� � %��
��� ���������D ,�	�� �'�� ����������-��D �%�� � �'�� ���
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$�����?���� � �1���� G��������+�
��P ���
��������%��� . ,��
����� G��' ����/��P

���
������� �'�����	 	���� � J��	�+������ ��'�� � 	������� Q�����$�?� %���+

��� $�����'�����D ����� ������� ���
D �� *���� �����	��
�� �� ������ ��������+

��� ����������� 8��� � ,����	��������� ��������� �����	��
�� ���
 ����������

�'������� ������%�����D 	��
�� ���'��'���	������� *���������� 	�������D ����

������������� ��$�� �1�$�1�%���� ��*�� ��������%����� �� *���� 	��������'����

	��������������� ����	��
��%������ . �������������� ��%�� ,�	�� ����-�� � ,�+

������������� ��*������ ���������� 	����/�����D � �������� '��� ,��� �1�����*� �

	������������� �='����$����� 
�������� ,��
������� �E��� ��D ��
 � �������� ���+

���� � ������ �������� '����� G����/��-�� x = 1 ������� 	��,����� H�!�63+��P

*���� 	���������������� ����������� M!30D !3�N�

4� ��
�� �1-- $����-�� �� ����
��
� � �*����	 �������� ,�������������� ,����

�������� ������������ �������������� 
��������-��D ��
C���� -�$����� �� � ����+

���� 	���������������� � ������ �������� '����?� *��? ��� r ��*����� G����/��-��

���$�����$�? �/�1�-���P ,/��*��
�-�� Gr → 0−P L

m(r) ∼ exp
(−C|r|−d/Φ

)
D G���P

�%�� d � �������� ��	����?
�D Φ � *���� 	���� ��������� ����? �='�����D C '�+

��� ��
 ��������� .� ������ ,����������	�����-�� � �������������� *�����������E��

��%��
������D *���� 	����E ���������� ����	��
�� � ��������-�� C�
D %��
 � ���+

������� � ������ �������� '����?� *��? ��*����� > 	����/���� ,/����� > 	�� ����

	��� � 	���� �1--� ������� GO�������OD %�� �����
��� �������� �����PL r → r +

+ δr(x)D �%�� δr(x) = 0 	�����%��D ��*�*� � ����������� 8��� � �������� �����

�� ������ ��������� ���������� �	���� � 	���� �1--� ����� 	�� ��	D �1-- ��
��

������ ������ '���� ������������� ��$���
 �1�$�1�%���� ��'�� �������� ����D 	��+

������'���� 	��������������� ����	��
��*�� . �������� 	���� ����������� 4�

��
�� @������+��'��C ��������� ,������������D ����/��-�� ����-�� > � 	���� ���+

������� ��$%���?���
�-?� ��?�?�� > *��?����E��� 
���� *�� ��
 ��'���� ��������

	���� � ��������-��D ��
 $������E-- 9����+��������� *��������� *���	��
�� *����
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L̃ *��%��? �������� �� σA ��?������ L

w(L) ∼ exp

⎡
⎢⎣−
(
Ld − L̃d

)2
2σ2

A

⎤
⎥⎦ D G���P

�%�� w(L) ����� � *��?����E����D %��
 �������� L	����E �������� � ��������-���

. *���� 	���� ��������-?� L = A|r|−1/ΦD �%�� A ��
 ��������� ����� �����

��%�� � ������ 	����� %�������� 	��D %��
 ����� ������ 	���� ��� ���������

����������� . ��1−xH�x!�63 ������ � ������������ �������������� � 	�������

$������� ���������������� ������D ��
 � ������ �������� '����?� *��? r ��*�������

-�$�/�
/� � ������ H�!�63+��� 	��,����� x = 1 ���$�����$�?�?� *��? ���������� L

r �→ 1 − x/xc� ��� xc ≡ 1D ��%������*�D %��
 � ������ ��!�63 ���'����'���

,����	�������D 	�� � H�!�63 ���'����'���-�� ���$� *����D ��������� 	�������

	�	����	� ������� 1����,�����*� ��%��
��D %��


w(x) ∼ exp

⎡
⎣−A2d

2σ2
A

(∣∣∣∣1− x

xc

∣∣∣∣
−d/Φ

− L̃d

Ad

)2
⎤
⎦ D G�� P

8��� �1�������-�� ���
�� d = 3 G� ��1−xH�x!�63 	������ ������ � 	���� w ≈
≈ 200 �	 *��������� ��� ��	 ,�������� �������
�PD Φ+� '���� � *���� 	����

����������� 	��,������� %��
��������/� � �������$�?� %���� �='��������� ��$�'+

����*�� L Φ �→ 1/νD �%�� ν+�� %������
�� �  K )�����-���+	�����-�� ��*��
��

ν = 0,698 ������� M!3�N� .� x H� ���$�����$�?��� 	��,����� 	�������������

	��%���������%�� ,�� ���� ������������ 	������� �������� 
��������D 	��
�� > �

*���� 	����-�� ��?�?�� > x H� ���$�����$�? ������ 	�� ������������ .� �����+

����� �� -�%��
��������� ���� � ��1−xH�x!�63 ���'����'��� 	�����������������
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